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flat area 
pipe size rocky soil soft soil 

unwooden wooden unwooden wooden 

CBACBACBACBADN NPS 

���� ���� �� ��� ���� ���� ��� 

���� ���� �� ��� ���� ���� D � ��� ��� D ��� 

���� ���� �� ��� ���� ���� D � ��� ��� D ��� 

1 1.5�3.5�15�11.5�3.5�15�18�523�11.5�3.5�15�600≤���≤�800�24≤���≤32�

12�416�12�416�18�725�12�416�900�≤���≤�1050�36≤���≤42�

14�418�14�418�20�828�14�418��>1050��>42�
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hill top 
pipe size rocky soil soft soil 

unwooden wooden unwooden wooden 

CBACBACBACBADN NPS 

���� ���� ���� ���� ���� ��� 

���� ���� ���� ���� ���� D � ��� ��� D ��� 

���� ���� ���� ���� ���� D � ��� ��� D ��� 

11.5�3.5�15�11.5�3.5�15�11.5�3.5�15�11.5�3.5�15�600≤���≤�800�24≤���≤32�

12�416�12�416�12�416�12�416�900�≤���≤�1050�36≤���≤42�

14�418�14�418�14�418�14�418�� %1050��%42�

���=�-�:�� 
��� I� 
�?� J7 ����� K#= �/"B��"� 2"%ABC �/"� F�C". <�� )��� .( 
)OP? 
�+-���? Q�=�(.
��(��(�

�����
���� 
�����
����
��	�
����

'()��*�(�)���*�(�'()��*�(�)��*�(�

�������������������

8311�8311�8311�8311�≤300�≤12�

8311�8311�8311�8311�350≤���≤�400�14≤���≤16�

9312�9312�9312�9312�450≤���≤�550�18≤���≤22�

11.5�3.515�11.5�3.5�15�11.5�3.5�15�11.5�3.5�15�600≤���≤�800�24≤���≤32�

12�416�12�416�12�416�12�416�900�≤���≤�1050�36≤���≤42�

14�418�14�418�14�418�14�418��%1050��%42�

���=�-�:�� 
��� I� 
�?� J7 ����� K#= �/"B��"� 2"%ABC �/"� F�C". 
 ��� )��� .( 
)OP? 
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&����
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�����
���� 
�����
����
��	�
����

'()��*�(�)���*�(�'()��*�(�)��*�(�

�������������������

8311�8311�8311�8311�≤300�≤12�

8311�8311�8311�8311�350≤���≤�400�14≤���≤16�

9312�9312�9312�9312�450≤���≤�550�18≤���≤22�

11.5�3.5�15�11.5�3.5�15�11.5�3.515�11.5�3.5�15�600≤���≤�800�24≤���≤32�

12�416�12�416�12�416�12�416�900�≤���≤�1050�36≤���≤42�

14�418�14�418�14�418�14�418��%1050��%42�
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� G"# %�H �� 
��� I� 
�?� J7 ����� G��� �/"B��"� 2"%ABC �/"� F�C J%1"B?
 G"#AP? �� <�"S��� K#=+-�"1�-�.

���=�-�:� I� 2��"5� �� I� 
�?� J7 ����� K#= �/"B��"� 2"%ABC �/"� F�C ��=�� 
��
 G"# %�H �����B. )���(.)OP? 
��-���? Q�=�(.

flat area 
pipe size rocky soil soft soil 

unwooden wooden unwooden wooden 

CBACBACBACBADN NPS 

��������� �������� ��� 

��������� ������� �� 

��������� ������� �� 

��������� ������� �� 

��������� ������� �� 

��������� ������� �� 

3.5�83.5�3.5�83.5�515�5412.5�4600�24�

3.5�83.5�3.5�83.5�515�5412.5�4650�26�

3.5�83.5�3.5�83.5�515�5412.5�4700�28�

3.5�83.5�3.5�83.5�515�5412.5�4750�30�

3.5�83.5�3.5�83.5�515�5412.5�4800�32�

484484618�7412.5�4900�36�

484484618�7412.5�4950�38�

484484618�7412.5�41000�40�

484484618�7416�41050�42�

684684820�8416�4�>1050��>42�
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hill top 
pipe size rocky soil soft soil 

unwooden wooden unwooden wooden 

CBACBACBACBADN NPS 

���������������� ��� 

��������������� �� 

��������������� �� 

��������������� �� 

��������������� �� 

��������������� �� 

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�600�24�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�650�26�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�700�28�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�750�30�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�800�32�

484484484484900�36�

484484484484950�38�

4844844844841000�40�

4844844844841050�42�

684684684684�>1050��>42�

���=(-�:��=�� 
��� I� 2��"5� �� I� 
�?� J7 ����� K#= �/"B��"� 2"%ABC �/"� F�C
 �� ". <�� )��� .()OP? 
��-���? Q�=�(.

��(��(�
�����
���� 
�����
����
��	�
����

'()��*�(�)���*�(�'()��*�(�)��*�(�

�������������������

353353353353≤300�≤12�

353353353353350�14�

353353353353400�16�

363363363363450�18�

363363363363500�20�

363363363363550�22�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�600�24�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�650�26�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�700�28�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�750�30�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�800�32�

484484484484900�36�

484484484484950�38�

4844844844841000�40�

4844844844841050�42�

684684684684�>1050��>42�
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��� I� 2��"5� �� I� 
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 ��� )��� .()OP? 
��-���? Q�=�(.

hill side 
pipe size rocky soil soft soil 

unwooden woooden unwooden wooden 

CBACBACBACBADN NPS 

���������������� ��� 

��������������� �� 

��������������� �� 

��������������� �� 

��������������� �� 

��������������� �� 

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�600�24�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�650�26�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�700�28�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�750�30�

3.5�83.5�3.5�83.5�3.5�83.5�3.5�83.5�800�32�

484484484484900�36�

484484484484950�38�

4844844844841000�40�

4844844844841050�42�

684684684684�>1050��>42�
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��� I� 
�?� J7 ����� G��� �/"B��"� 2"%ABC �/"� F�C J%1"B?
 G"#AP? �� <�"S��� K#= 6A�
� G"# %�H �� ��=�� 
����-�"1)-�
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1�B V��B ��>� 
%�c %� � JM5 �95���= ��=M1�� �1 ���z�8 �
���= ;9�1�= �-1�

M �5 �,=�8.

�� ��a ���S� K1�-(. �a�M" M1�= �2 ���� KL�,=�8 %� J��*9�� �%�� /�2 �!�BW�95�� ��� JM-1�� ���� <�

� J��&  ;�*-B x�H� <� ��� #��@%�� ;9�i� 6��= M5�& .

�K-2C��� /�(=ia <� J��*9�� W���� KL�,=�8 I(8)Non – ferrous  hook(I��  <�,� .I(8

 M-= �= �94�= 
�FiG�4 .5,6 �%�M �9�� <����������140/1 ��5 �S8��� .

�%�0 �!�. �1�HB %�0 �!�. I����%� �= � /M-= #��< ��� �= �= D��-9� ����%�$ JM(F u���� ��
$

M1��@ M2���.
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�� M5�= �95�� ��8� �ia� �1�� %� /���1� %�0 �!�. V��B /��!SB u���� I��� �L�%� <� s. �r �-)

� C IHc %�0 �!�. I������@ K� ��!SB �1 � �1�SB %�0 �!�. �-1>2 �= �ia� ]1� WM1�!-  M�L�B �.

�1� ��� �1 � D��-��  jM-(� �`  �= �$ �% ��  � �!" �= ��=�� �ia� ��
$ I�� YQ�� %�0 �!�.o]!

M1�!  �1�SB �% M5�= K�.

OY?+-�:
��� 
%A
1 � >�%��"� >���� 
; Z�0
� >"#�[\ H� <�"S��� "� ". ]� >3A^ 
_S` a7
�?"� 
��� DA��� >" _/� >�"9� >" _/� "� <�? 

�9�1�= 
A��B� �1�� � �2��5K�%�� ��  � �!" ��t-2 %�/�(9!�a �B M-5�= :�.%�/
���KJ���C

M ��t  .�r1%� �!9" WI1�� ���� �= %�& � <� 6� J<��%� 6�2��5 ;1�,=�8 ��t-2)Gate ( i��� #C

��= � J��= �9�=M �5 6%��%�& � W<�= i��� 
%.%��� %� M1�= JM <�� I��5 /�(
!S��%�9�� ��
�

 /%��%�& � � ��  � �!" j�-8� ]1�M ��@ %��a �` M�.

�-�-:��; �"X/� 
�M1�!  y�M"� �% JU��. Y
9Z� j�-8� �= D��-9� � ^��9"� �%�� /�2%�& � I�� YQ�� %�0 �!�. .]1�

 �!" <� �&a K9�1�= �2%�& ����@ %��a �� JM-1�!  �1 jM-(� M�L�B � M1�<�= �%�� ����%�$ JM(F u���� .

��-� ����%�$ JM(F u���� �1�HB p��5M5�&�� �2%�& � #��= J���C �=) .M-= �= �94�= 
�FiG� I(8

9�� <� ���o�%�M �IPS-C-PI-����� ��5 �S8��� (
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����� %�& � ]��< �H� %��,�%� #�0�A� K9" K9�1�= �2 �1 ���� ���� %� � J��= K��!F /�(2�% 


M5�&  KaiB�= � �9��t  %��a K
�� /�(=C .%� K&�5 � ��5 JM�=�$ � u���B K9�1�= JM5 \�Z9 � �H�

 � />1% ]5 #C u�� K9�1�= ]��< #��= /%��. 
%�c %� � M5�= �95�� ]��< KS�&G D�5 I(8

��5 JM�=�$.

����� � �$ M ��@ %��a /%�G K9�1�= �2 M �= m1 %�w� M=�1 %���9�� �<A �
c�� �= ���� Y1�% �� /�9�

 �=��= Kh�F #C ]���Gv��
ZB � �!" W/��@%�= 
AC ]�5�� ���B I(8 �9���5 �9��@ �`  %� .

)I5�& � I(8 ��%�M �9�� <� +,-. M-= [=��� %�0 �!�. ��0
!F �2 ���� #��M�)IPS-C-PI-����� 

��= M2���.(

�� #M�) /��=��� JM5 u���B ]��< %� {i&a K9�1�= �2W�� <�l R��� �= /<�� �94. JMF�a �$ �05 /�

 I��= � M�01 #C �%>=)�|w (�() #C m)�$ JMF�a �)�w(J�,-. #C p�*B%� �)}w(�9!�9 ��

M5�=��, � W��5.�94. m)�$ JMF�a /�% p�*B%� �= K=�) j%���B Y1�% m1 I�1�&�� �2�}�

��F|w �����@ ��&SB �9!�9.���� /��= �94. ��MSB ��a �B �2�|���� /��= � Y1�% �� �-1� = /�2 ���a

 <� �94�=�|�-1�WM5�&�� Y1�% �� .

OP?�-�:
�b& c%� 
A`"^ � ���81 
��� d�"X/� >��� ". 	%� ���� >". 
H�+�e 7�)6�� (H� ��B; �+�e 7� )f(

��&�� %�0 �!�. ���$ 
��Z4� ]�-r!2 � JM <�� WI��Zh W��a W�A�� M1�@ /�-&� �= �% �2 ���� I�1

K1���-5 I(8 jM-(� <��  �%��WWM-�&  D��C ���� /�(9 � �. �$ D��-� K�1�G �= � J��!  m�0*B

M2� %��a WM-0  ���� �1 � M1�!-  I$�" ���� .M�1�B �= J��*9�� <� E�. I�1�= K� #��$ %�& � J�H  

M��= jM-(�.

)6��(

)f(



���� ���
 ������ ���� ������ ��� � 
���� ��� ����	
%���& $#��#� ++����
 ��
 '()* �� 

����� ��
$ #��$%�& �� /%�M(t  /�(
!S��%�9�� [�a� I1�F% �= �>
�%�0 �!�. ;2� E5�. ��= M2��� .

E5�. ��, �%� u�Hc ��c� I1�F% �MF<� K5�  �$ KB%��� � �@�2 I�� K(1M= W/��@%�=� �!"

���@ K�
B WA�05�� �a��  R�% �= �>
� %�0 �!�.� J��= %�0 �!�. JM(S= {���!B [1�F �= 
��Mc� 


� 
��Z4� [=��� ��� �-1>2 �= �2 ����� ��= M2��� ����%�$ /�(
!S��%�9��.

�JM5 E5�. 
%�c �= �2 ���� �1�HB 
%�c%�W�&a %�9091� /M���2 J�t9�� �= �2 ���� E5�. I�B

�. V��B �2 ���� WK=��� �1 ��Mc ��8� 
%�c%� �$ M5�= K� K��>�� %�0 �!�. V��B �1�HB <�%�0 �! 

��5 K� J��� 
��F V=�1l � ��%�$ �= .�-1>2 ��
$ I�� K(1M= ���!B �1�HB <� s. \��F R�% /�2 

��= M2��� %�0 �!�. JM(S= 

�%�& � W�!" �= I&�  I�� �>
�%�0 �!�. :/�(
!S��%�9�� D�" j�-8� /%�M(t � IPS M1�!  ��Ma� .

j�-8� M- �� KH����BULK ���� � :�8�� /�2%��  �5�.W;2� EM1�= K� �= [=���

 � JM <�� I��5 6�(
!S��%�9�� /�2 ���� IQ�*" /��= � JM1��@ /%�M(t  JM�5�.�� �H� %�

M-$ /��@�
8 #�%�=� \�9�C +��9�� E=�B<� �$ I <�= �q� K1�(45�.<� K9�1�= JM5 E5�.WJ��*9��

��5.

�K1�2 ���� <� K9��� u���� �1�HB ��t-2 %� I�1�= K� %�0 �!�. �= � ��(B �% M %�� ��!SB �= <��  �$

M1�!  �L�%� jM-(�.

����� #��!  %�& � � �!" Ra�� %� IHB <%� �H� �$ M ��@ %��a K�1�G �= M1�= ���� K��G /�2<%� �2

�1��< � �9��@ %��a E-B �a�M" ��M" /��}M2� ��04B +L�a �= �8%� .���� K��G <%� K9��" ��2 %�

�� �= j�!B %� M1�& M5�= %��,� ��.

����� Y1�% ��MSB K� JM�) +2 /�% �0�L�2 M8 [=��� ���� ��a �= �8�B �= ��5�K� �1l �� M5�=.� �M9=�

���� I�&qB I(8 D��-� K=�) �
��� �= K9�1�= ���� Y1�% /�(9 � K��!9"� #M1>g� <� �B ���@ %�(� �2

���@ /��@�
8 �( C.
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�K� <�= /��� %� 
AC��5 � 
A��B� #��$ %�& � /��= �&S8 �= �% �( C I�1�= /�% �G�=�� /�2

 I <�= �
���= � J��� %��a K=�) j%���BM �5 JM �5�. m�9�i. �1 .����%�$ JM(F j�-8� �1��

M ��@ %�& � JM�5�.�� � %��H� /�2%�& � %� K9�1�=.

���=�-�:
��� 67�� ���81 
��� ��\ 
� 
=�1 "� g]. G�� d�"X/� G��� ��� 	?�& G". 
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�J��� ��Z4B J��*9�� �=�a��� �� JM-1�!  �1 jM-(� �`  j����= JU��. /��8� #��< %� �$ K��-8�

K� %� ��5 M �5 /%�M(t  ��<�� %�& � m1) .9�� <� +(  M-= �= �94�= 
�FiG� I(8oooooooooo �%�M �IPS-

C-PI-����� ��5 �S8��� (

����� P < �$ KL�2 ��, � �( C KL��< K� I�� JM5 J�< �( C /�9�C �!1��. � �9��@ :�% �=�4� I�1�=

���� #��!  %�& � M ��@ %�& � %�0 �!�. �= K
1�HB /�2WY1�% m1 +(1�% /�(*1�% ]�= �$ 
��*B ]1� �=

��5 J��� %��a #�-) K0�9�A �!�B ���� �$ �2M-5�= �95�M  �t1M01 �= K��!B � �tr�2.

�j�-8� ��
$ JM(F ��%�$ :%�& � � 6%�M(t  WD��-� /�(5�% �= K9�1�= ��JM5WI1�% �=�a �01%��=

M-5�= :%�!5 � K�%<�= �.IHB JM5 %�& � j�-8� <� � �<�% 
�FiG� J%��!2 I�� YQ�� %�0 �!�.

 %��9�� %� JM5 �%�� �1 ^%�� J��*9�� I(8 j�-8� �$ K
H� � %��C � �1%�B �= J��!2 �% ��� ��9-$

M5�= �95�� .�� JM-1�!  �1 jM-(� I����%� 
%�c %� � J��= uh�� {i��$ M1�= f%�M� � %��C ]1�

M ��@%��a j�9�� %�.



���� ���
 ������ ���� ������ ��� � 
���� ��� ����	
%���& $#��#� ++����
 ��
 '()* �� 

%���& A��:

U��V ���UUUU��UUU 



���� ���
 ������ ���� ������ ��� � 
���� ��� ����	
%���& $#��#� ++����
 ��
 '()* �' 

�"44/"; �S� 
��!S��%�9�� D�" �� �$�*" <� ��� ]1� K-� 
��Z4� �)�9�� y�M"� ���9 � ���� /<�M � J�%�

 ��M8� K9*  ���� J%�!5�M-= |k�w�%�M �9��IPS-E-PI-��� ��1?��� 
%�c .��,"� I�� K(1M=

 
��
!F ��, � <� s. K-$ �� �$ 
��
!F /��= JM5 ��8� /%�*" :�% � /M-= �-(. ���gB � KSa��

 m�-0B�LU)M5�= K� %�0 �!�. JM(F �= m�-0B�LU 
��
!F (���h� 
%��= #C M�L�B �//%�$��$

(� /�(��  j����=� I����.� �&��H� �=�a #�!�. D1��h� I1�1M� #��<�� �1 � I*  /�(= j%�

��=M2��� ./%�*" <� +F� K1��8� 
��
!F <��C <� �&a %�4$ Kt-2�� y���� <� IQ�*" %�`-!= {�-!h

/<�� ���� � �� �$W%�0 �!�.� �iS9�� %�4$ Kt-2�� y���� #��<�� <� I�1�= K� <�,� j����=

�!  ��Ma� J%��cM1.

�M5�= �95�� %��9�� %� �% /%�*" <��  �%�� 
AC ]�5�� ��
$ I�� YQ�� %�0 �!�..

�K� %�0 �!�. �`  %� {i&a �$ K �!9��� 
��
!F M �= ��F <� I!�a #C %� �% ���� V� %�H� I�1�=

�@ � J��!  ���"� JM5 �9��@ M1�!  />1% .�L�B � %�0 �!�. ��(-4�. �= /%�*" 
��
!F p��5 ���  M

M5 M2��� ]��SB �� JM-1�!  �1 jM-(�.

�a��� /�(-��< <� �$ ���� <� K9!�a %�;7� �7� ��= �= /%�*" �=� K��%?@WK� �� �$ E0) �= I�1�=

���@ �*" /��= .�-� %�� J��= Kt-� ]��< p�  �$ K�G /��= E0) �= /%�*" ��t9a� � J��= #����

 ���c �= M5�&WJM-1�!  �1 jM-(� M�L�B �= M5 M2��� ��, � %�,* � �= �� �$ �*" 
��
!F ��.<�,�

���@ ;� ]��SB %�� b�5 %� JU��. V1��5 �= �8�B �= %�,* � 
��
!F .

�M5�= K� 
�SG��B � ���� /�2 �4�  W#�!�. f%�M� /�-&� �= #C 
����gB � �� �$ [!F .�0�B%�c %�

 <� K1�(9!�a %�WM5�= /�94�= [!F �= <��  ���� ` D�" � J��= ���gB �=�a [!F ]1� JU��. jM-(� �

M5 M2��� I����.� �&��H� %�$ ���h� 
%��= �1���� ./�(=C u�� �= �8�B W�� �� ��S=� %�

 <� J��*9�� ]9��@ �`  %� � K-��<�1< 6%��-5 <� 6��@�
8 M�1�B �%�� 6�(5�% ����%�7 �!�. 6�� <� 

I�� K��>�� .

�� �(SG��B%� ��� �%���W[�!SB n�B /�2 �4� %� JM5 �Z4� #�>�� �= JM5 /%�*" �� �$

(Typical)  M5�= K� %�0 �!�. JM(S= JM5 �L�%� .�9&�� J%��c /�2<�,� �= �8�B �= �� �$ /%�*" [!F

 �=�a %�$ ��$ �1 � %�$ ���h� D��a %� 
����gB ]1� �$ J��= ���gB �=�a V=�1l K9��� �1��� V��B

��= M2��� �&��H�.

�F �a�M" �=��= �� �$ �� �= I��� ��a �() J�iS= ���)�w(�9!�9 ��.%� �� �$ [!F �a�M" /�(-��<

K� �1l b�4= Y
9Z� M5�=:)M5 M2��� �L�%� %�$ ��9Z� b�5 %� �� �$ [!F ��� �%��� %� (. {�-!h

 �4� IPS-D-PI-��� ��= M2��� �!F fi�:
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Y��k= � M�01 J�iS= ���� ��a KF�%< /�(-��< %� I��)�|w (�9!�9 ��+|w��  ���� �9!�9 ��

���� �1< 

\k��  J�iS= ���� ��a �1�= /�(-��<)~w(�9!�9 ��+|w���� �1< ��  ���� �9!�9 �� 

^kI�5 J�iS= ���� ��a K �9�2�$ /�(-��<)vw(�9!�9 ��+|w���� �1< ��  ���� �9!�9 �� 

����� 
��
!F <� K�S= �r �-) /%�?@W/%�*" #�>��M1�!  \�,1� �% /�94�=W��, � �= YQ�� %�0 �!�.

K� #C M5�= .I�� K(1M=���� W�2%�&1�8 W�2��=C ��`  KL�(SG��B %� �� �$ W�2 WK$�� � K-9= /�2

J��8 K� �� �$ I�Sh� � ��S=� WJ��� � �(=ih�� WK$�� /�2 �4�  [=��� I�1�= �1 � n�B /�2

M5�= #�!�. %� JM5 �$l /�2�%�M �9��.

����� �= K4-B �0 C #�M= �� �$ V�� %� ���� %���9�� #�0�� J%��!2 �$ ���@ �*" #�-) K9�1�= �� �$

���@ �%��WM5�= ����.

��(-��< <� ���� V� ���� J�@�26���@ ��, � /�H-= K9�1�= �(-��< ]1� %� �� �$ �*" W�%?t= KaiB�=

���� 
��
!F #C <� s. �$ ���@ p��5 /%�?@ .t-1� %�K� J%��!2 �%��� � � � �L��� ��
$ I�1�=

�L�" W�(9�= ��&a <� �� �$ /�2%��1� /%�M(t  �<��� <� ^��9"� #��< %� �$ J��= J���C J��� � U��*$ W�2

���@ J��*9�� �( C.

�K� M1�!  �%���= K-��<�1< R ��� �= �2�(5 K���" %� �� �$ ���� �r �-) ���) �*" 
��
!F I�1�= /�2

K41��<C �� �$ /%�*" 
��
!F ]!h %� �B ���@ ��, � K-��<�1< 
�����B ���� ]��SB I(8W

���t  �%�� 
�����B �= KB�%���.

���5 �%���= %�&F �=�a��� R ��� �= �� �$ �*" ]!h J�@�2W���) �*" �= YQ�� %�0 �!�. /�2

1 jM-(� M�L�B �%�� �$ %�&F �=�a � D��-� ���� ]��SB %�`-� �= K41��<CM5�= �� JM-1�!  �WK�M5�=.

�K� #C Y$ � J%�M8 �� �$ �*" <� s. WP-� � �@�2 <� /%�F �01%��= W���@ I����. I�1�=

M5�= ML�< K��5 � �@�2 �1 � #�9�%� �41% W��
$.
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�%�M �9��API–���� M5 M2��� ��, � JM��% �� JM-1�!  �1 jM-(� M�L�B �= � �L�%� %�0 �!�. V��B.

�/%�05�8 :�% �1 ���90�� p�  %� /MS= 
����gB /��=;���� 6�2��g9� ���gB �1W�M,� D1��B

I�� K��>�� �� JM-1�!  �1 jM-(�.

��� <�,� ����%�� #��%<�= � J��!  M1�<�= J�@%�$ <� 
�a�� ��!B %� ��= M-2� jM-(� <� <�,� D�� �=

 �� JM-1�!  �1 ]1� %� �"��4� /%�05�8 :�% WK���@�1��% W/%�05�8 �= ��=�� 
�FiG� ��!B �=

M-5�= �95�� K��9�� 
��Z4�.

�:�% <� J��*9�� �= � I�� �= /%�05�8(ELECTRIC ARC WELDING) 5�. /�2���90�� �E%��

(SHIELDED ELECTRODES) I��@ M2��� ��, � .�` M� 6%�75�8 �t1� 6�2M-1��� �7�B%�c%�

���@ ?�� ����%�� <� �<A 6�2 �1M�1�B ��
� I�1�= ;� WM5�= %�7 �!�. .

�JM-1�!  �1 jM-(� [1�G <� �0�B%�c %� �� <� �1 � ;-� 
��M� M"�� � K-� ��9-$ � K�%<�= %���

M�L�B K-!1�A �1 W���@ ?�� �<K�:�8 /�(2�t9�� <� � �@M-) �1 �=�� 
A��B� /��= #��B

��!  J��*9�� m�B���B�.

�J��@ WE1��<C �<��� W/%�05�8 /�(2�t9�� ������ JM--$ #�>�� /�2)J��@ ��� /�2ooo K8%�� � K


(LINE-UP CLAMPS) �. � :�= /�(2�t9�� ���� #�<(BEVELLING) M1�= �(2�t9�� �t1� �p�  <�

M �5 /%�M(t  \�� I�Sh� %� � J��= �� JM-1�!  �1 jM-(� M�L�B �%��.

�J��@ �1 K
��� u�� %� Kt9�%��� �1 :��� WK@%�. �$ M-5�= /%�G M1�= ������ JM--$ #�>�� /�2

���t  >
� #M�5��B D8�� �0-1� �1 � J��0  ��,1� ���� K8%��.

����� ��a �= /�2|�BA�= � �-1� K��% B
%��= A�= �� �1 �1<��� :�% �= #�� (BUTT WELD) :�8

��!  ./�2��a /��=}/�K� ��c�B �9!$ � �-1� �� W� �< W
A��B� �$ ���@ p�  <� J��� � �1M&B WJ�%

SOCKET :�% �= � J��=FILLET WELD M �5 :�8.

��1< /��2 %�}�= :<� ��t-2 %� � K��= WK �%�= /��2 %� W���t�9 �� �8%� <�,� /%�05�8 M1M5 �

K!  M5�= JM��% �� JM-1�!  �1 jM-(� M�L�B �= �$ D��-� V1��5 ��,1� �= �t� M5�=.

�I$�5 K-!1� � K-� ��9-$ WK�%<�= %��� s�L%#��1� I*  
��=�Z� � ���� ���� DZ9-� JM-1�!  �1

K� K�
B I$�5 j%<�= #��-S= �� M �5.
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�4� m1 WI�1�= K� /%�05�8 p��5 <� �&a ���� D��-B 
�&z� %�`-!= /%�05�8 [�a� ��Z

 K0� �0�)� K9Z� WI����� ��` …(��5 ��(B .�SB \�Z� 
�41��<C V��B �(5�8 I�*�$ooooo ]�

��5 K� .�L�%� <� s. �(-B %�7 �!�.PQR <�WPS ;� W����%�� <� �<A 6�2 �1M�1�B ?�� � �G�=�� 6�2

M1�!  <��C �% 6%�75�8 
��
!F M ��B .

�%� ��8�� ��� M- �!2 K��� %� M1�= M1M"ic �%�� �1�% �2 
��L�8�ec@on 2 �� <�ooooo �%�M �9��� 

/ 1104 )�05�(��5 I&z .

����5 M1�= /%�05�8 �1�% ��Z4� ]1� :/%�05�8 M-1C��/
A��B� � ���� ����/� I��Zh

��a/���B� K"��G//%�05�8 /�2 j�. ��MSB � JM--$�. ����/K01�90�� 
��Z4�/I�Sa��

 /%�05�8 I(8/�(��. /M-& ��</<��  �%�� /�2 J��@ p� //<��$�. � /<�� J���C 
��
!F

 u��/KB%��" K1��< E-B K��@ E�. 
��
!F/���H� <�@ #�>��//%�05�8 /��4�. IF��

M5�= .

�-'-"#/i D�"7H�� � :��"Y?�= 
�%� I�� �`  %� �$ K �%�05�8 ��
$ /%�05�8 E1��<C %� K9�1�= M �5 �9��@ %�0= JU��. ]1�

 �%�M �9�� j����=�����1 104) <�,� � 
%�$ %�Mc � M�L�B <� s. � �9��@ %��a K=�1<%� �%��

M �5 �9��@ %�0= JU��. /��8� %� /%�05�8 .)�= [=����ec@on 3 %�$?� �%�M �9�� <�(

�!8 <� E1��<C <��  �%�� 
�>�(,B � �<��� � ��(B %�0 �!�. V��B � �-1>2 �= K&1�ZB 
�41��<C �


K� ��(B ����%�$ V��B E1��<C ���� �%�� ���� K�� I��@ M2��� ��, � ��5.

�I�iF /��= J��� %��a #�%�05�8 %��9�� %� %�0 �!�. V��B ���Z� �@ K9�1�= �(5�8 /%�?@

��5 .J%�!5 M1�= %�05�8 �2 [1�G <� j%<�= V��B �$ �% /� E1��<C #��< %� �� JM-1�!  �1 jM-(�

 R=% %� JM5 ��, � �� ��� �
���= �$ :�8 <� K9!�a %��,� ���Z� �@�= �% JM5 ]��SB �� /��=

M-$ I5����1 ���� /A�= .�&!� <� J��*9�� K!  <�,� /�A�� /�2 M5�=.

�/%�05�8 �@�W���� �(=WM-$ f�B �% %�$W1� %�05�8 V��B K9�1�&  �� J%�!5 J��*9�� �%�� /�t

���@ %��a ./%�05�8 �@�W���� �(=W�= I4@<�= �= �1�� � J��!-  /%�05�8 J�� E5 
M� <� �94�=

��&a 
%�c %� � M1�!  I$�5 E1��<C %� {��M,� I�� �<A M5�= ��� %�$��;�� �= /M1M8 J%�!5

M5 M2��� J���.

�E1��<C <� �&aWN%�M�! �1 jM-(� [1�G <� #�%�05�8M-5�= JM��% j%<�= M�L�B �= �� JM-1�.

��1 � ;&1�ZB W;-�F %��= j%<�= V��B � ��Z4B �= #C �,�9  � JM5 ��, � :�% ]1� �= s�� E1��<C

 6%���&�7F)�%�M �9�� �= [=��� ���� 1104 (M5 M2��� ]��SB.
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�= ���90�� s-8 � :�8 p�  W���� s-8 WJ%�M8 I��Zh W���� ��a %� ���gB �2 /��= :�% M1�

� �@�M8 /%�05�8 ���@ %��a J��*9�� �%�� /� .HB �"��4� ��*� j����= M1�= /���gB �2ooooooooo I

#��-F(ESSENTIAL VARIABLE) �%�M �9�� %� ^%M-�(API-����) � ��5 ��,1� /%�05�8 :�% %�

���@ %��a K=�1<%� �%�� {��M,� � �94@ +�`-B /%�05�8 /��= /M1M8 :�% K9�1�= .)M-= �=5 .4 <�

��5 �S8��� %�$?� �%�M �9��(

�<��  �%�� 
�S�a ��MSB � :�= �H����7����� ���= K&1�ZB 
�41��<C /��=oooooo j� �!S��%�9��

����1104 IHB �M5 M2��� JM1�= %�0 �!�. V��B � ]��SB j%<�= �` .

�K� V�� #�%�05�8 JM5 J��� ��Z4B <�,� �$ /M" %� �% /%�05�8 M- ��B M �WM-2� ��, �.

�9�Sa��6�( ����������� K� �1< b�4= /%�05�8 M5�=:

Y��kK4��) /%�05�8� �#��� �+�*�,1)���� � J��= I=�z %�05�8 I��" ]1� %�

K� )oooooM�� :1G��#tat+* (�

\k]$�� /%�05�83#'�t�#,�.+�*�,1 )" %�05�8 J��= I=�z ���� I��" ]1� %�oooooo I$�

K� M-$ :5G(

��
�`"i :I!�a /%�05�8 /��= �$ K �%�05�8 V��”\“JM5 ��&a K� M � E1��<C #�M= M- ��B

 I!�a %� M1M8”Y�� “J��@ <� R���B /��= ��" �2 %� K�� M--$ /%�05�8”Y�� “�=”\“^��9"�

��= M2��� �M,� E1��<C �=.

�JU��. %� �$ K �%�05�8 I$�5 K
&a /�2�1� I*  
��=�Z� � ���� ����#�%� M � J��= %�0= ��g4�

I5�� M-2��Z  �M,� M�L�B �= ^��9"� �1< V1��5:

Y��k���� ��a �%�M �9�� [&G � �9��@ %��a M�L�B �%�� %�05�8 K
&a JU��. %� �$ KL�2 

�1104 ���� ���� ��a �= M5�= J��@ m1 %� M1M8 #�!�. /�2.

\k���� I��Zh �B �%�� %�05�8 K
&a JU��. %� �0�L�2�%�M �9�� [&G �9��@ %��a M�L 

�1104 ���� ���� I��Zh �= M5�= J��@ m1 %� M1M8 #�!�. /�2.

^kE5 <� E�=)v(M5�= �95?t  K
&a JU��. %� /%�05�8 I���S� #�1�. <� J��.

�k]$�� I�Sh� %� /%�05�8���<
�� ��������� : � J��= I=�z ���� I��" ]1� %�

�1 A�=�� 
%��= K��H� /%�05�8 K-�L�.��)JM5 M�L�B �!S��%�9�� [&G (M5 M2��� ��, �.

�-'->�"Y?�= >".����Y�� 
�M-5�= �1l 
��Z4� [=��� K9�1�= K� �2���90�� ��!B:

������5.1.�������5.5.�������5.2.�������5.17.�������5.18.�
������5.29.�������5.29.�������5.28.�



���� ���
 ������ ���� ������ ��� � 
���� ��� ����	
%���& $#��#� ++����
 ��
 '()* �* 

����� ��� j�. /%�05�8 I(8 /�2API-5L 6���
 � �����5LX�42 [=��� ���90�� <� K9�1�=

 �%�M �9������
�6010 ��5 J��*9�� #C �=�4� �1 .���� �= �8�B �= /MS= � ��� /�(��. /��=

K� �1�. >
� ;7� �7� �%�M �9�� [=��� /�2���90�� <� #��B����
�7010  �����
�6010 �=�4� �1

��!  J��*9�� . �!  � 
��Z4� I�� K(1M= �1 jM-(� [1�G <� K9�1�= ���� <� �&a �2���90�� �

M��= K�%<�= M�L�B �= �� JM-1�!  .�= JU��. %� ;���� 6�2���97�� ��
� 6�2 �1M�1�B I�� �<A ]�-r!2

M��= ����%�� M�1�B .

����� /%�05�8 I(8 /�2����5LX�52 �%�M �9�� [=��� ���90�� <� ��� j�. /��=����
�6010 �

�. /��= ���90�� /MS= � ��� j����
�7010 K� J��*9�� #C �=�4� �1 ���@.

����� /%�05�8 I(8 /�2����5LX�60 �%�M �9�� [=��� ���90�� <� ��� j�. /��=����
�6010 �

���90�� <� /MS= � ��� j�. /��=����
�8010 K� J��*9�� #C �=�4� �1 ���@.

�9�= ���Z= �%�� �2 %� ���90�� ��a \�Z9 � ]1� %� �%�� #C J%�M8 I��Zh � ���� ��a �= Kt

K� ��=�% ���90�� <� #��B ��a �= /�2
32
3,

8
1,

32
5�1

16
3��!  J��*9�� D��-B �= �-1�.

�%��� /%�05�8 /�(5�% �1 /%�05�8 M-1C�� <� ���H � � �@�2 M5/%�05�8 
��Z4� %� J

�� ]9��@ �`  %� �>
9"%��h /�2��g9�6"I��)�%�M �9�� <� �94�= 
�FiG� I(8��� / 1104 

��5 �S8��� (. 

�KG�a %� K9�1�= J��*9�� #��< �B �2���90�� M �5 /%�M(t  �9�= %� K
c� />
� /�2 .K9�1�= �2���90��

��c�B [&G �= {���H-� KG�a <� �0 C <� s. M ��@ /%�M(t  � %�& � JM <�� /�2 �� K
c� /�2 ^%

 %� �2���90�� <��  
%�c %� � JM1��@ /��@�
8 �( C E5�. �= ��Mc � I=�G% <� K9�1�= M M5

M �5 /%�M(t  ]0��@ .JM1� ��Mc �$ KL�2���90�� #���= J�@%�$ <� K9�1�= � JM5 �9��-5 ����� M �

M �5 J��= .)M-= �= [=���4.2.2.2 �%�M �9�� <���� / 1104(

�-'-�� :��B/ <�"�i
��� >�"Y?�= >��� ". 
����� ��
$ �� I�Sh� �= I�� ]0!� �$ K=��F � �9��@ %��a K�%<�= �%�� /%�05�8 <� �&a M1�= �2

���@ u�H�B M >= ��Mc /%�05�8 I�*�$ .�. ��
$ �2� �
:
8�� �&� �/�2�8����� �&a ���5 �2

 �i9�� D8�� �B M ��@ >�!B K8%�� ���8� <� M1�= #C #��$ I*8 <�M �4  /%�05�8 ��� %� .

K� /%�$ >�!B :�% �. ��
$ � JM5 ��, � Ka�= J��&!� �1 j�= m!$ �= M ��B �&� � �2 ���= M" �B �2

M ��@ >�!B >
� #M5.

����� �� �2 K
��� ���
. #���< <� s. �( C ;
��� ��a � �2 ���� %�M8 #��= +��� <� #�-�!G� I(8 W

M1�= W%�� E5�. 6�2 ���� �c��� 2J<�M � �
��� <� J��*9�� �= ���� ��G �
��� ��@;K&��-�)�1 �&-� 
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#��B #�%�05�8 bi�c� �=(��a�=~}���� K
��� ��a ��9�� �=�|�5�B 6�9� J��!  ��(B %�0 �!�. �$

I�� JM��% �� JM-1�!  �1 � jM-(� M�L�B �= ���5 ��9-$ W.� ���<C I$�" J<�8� �$ ���� ��G �2

M � �
���J<� M5 M2��� �9��-5 ����� M2M  �% K
��� /��@.

�]�= /��!F ���H � #�>�� #M ��% �a�M" �= I(8��R��� u� �� +2 6��=�% ���� �o)High-low (

��$ +�`-B �% �( C K9�1�= K� ./��=�� �� ���H � ]1� WM-9�2 #��01 I��Zh /�%�� �$ K1�2 ����

 <� �94�= M1�&  /��!F���� M5�= �-1�.)1.59 �9� K
��(

�J<�M � �= ������ �r �-) #�0�� #C /�% K4Z&91�h% /%�05�8 �$ I�� JM1� ��Mc /� WM5�&  �1?.

:�= ���Z� J�t9�� �= �% ���� �� K9�1�=W�. � JM1�= /%�05�8 /��= K&��-� ������ �B ��5 J�<

M1C ��8�= .

�>��a P % �= uh�� %��= M1�= ����� �ia� ��
$ /�% �= �!
$”����� “)� +B+$) ( J�@%�$ <� JM5 �95� 

M �5 %�& � K&��-� �H� %� � JM1��@ ^%��.

�/��!F ���H � %�M�� W/��S=� /�2��� � 
����H � �z� %� �@�);�14��#. ( I�1�= W+�95�� /�94�=

��5 EZ. W���� �� �&� ��@���@ %� /���� %��= W�i9�� ]1� .�= �94�= 
�FiG� I(8 5�ooooo�0�

434�8�6�������1��,�2� �%�M �9�� <���	
���31�4 ]�-r!2 �M-= �= 6�27�2 �%�M �9�� <������1104 

�7�2 �%�M �9�� <�����������270 ��5 �S8���.

�-'-j&
����� :�H 
��. � :�= <����� #�S4� �= �2 ;�$�K!  <�,� J�t9�� m!$ #�M= � K9�� ]
�9�� M-5�= .��
$

$ /�(Z.K� �% K2�@%� �. /�(-�5�� <� m1 �2 <� J��*9�� �= #��B K <����
� ��8�� �7��
�,�

�����6,��
:
88��6�	��;��
� ��� ��, �.

��. I�=��� K��>�� /%�05�8 :�% %� JM5 J��� #�4  �. m�B�!5 �= %�$ �H� %� JM5 J���C

K� M5�= .J�t9�� <� �0�B%�c %��
:
88��6 � ]
�9�� K�$� �S4� �= �= K9�1�= �. ��5 J��*9�

M �5 I����. >
� #M5 ���= M" �B Ka�= J��&!� �1 � #�2�� WI8 P-� J��*9��.

��. ��
$ ���� :�= � �2 M5 M2��� ��, � ���� ��G %�H� �= ��!F �H*c %� �2 .���� K9�1�= �$ KL�2

 D� �= D� :�8)�-))�.+�* (J��� #�4  �. [=��� K9�1�= �( C �. 
��Z4� M �5 :�% %� JM5

M5�= D� �= D� /%�05�8.
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��� :��; KS= >�"Y?�= >��� ". 
����� #��$ I*8 /��= ��a �B /�2�vK� �-1� � ��!  J��*9�� K8%�� �1 K
��� /�(9�= �1 J��@ <� #��B

 /�2��a /��=�v��5 J��*9�� K
��� /�(9�= �1 J��@ <� K9�1�= �94�= � �-1� .*9�� �$ /�%��� %� <� J��

#�0�� K
��� J��@ M5�&  �1?.)���  M- ��Tie-in (K� K8%�� J��@ <� �� JM-1�!  �1 jM-(� M�L�B �= #��B

��$ J��*9�� .J��@ ��!0B <� s. �% K
��� /�2�ww %<� s. �% K8%�� J��@ � ��� j�.�w%j�.

K� ��� I5���= #��B .� ���� V�H� %� /���� %��= M1�= :�8 #�>�� ]1� JM5 +���B ��=�% /�(S=% %

M5�= .J��@ �= �% ���H � �$ ���@ %��a M1�= J��*9�� �%�� K�1�G �= K8%�� �1 K
��� JM--$ #�>�� /�2

M- ���= �a�M" .<� K9�1�= M5�= �<A /%�$ E0) 
��
!F W���H � #��= ]�= <� /��= �0�B%�c %�

�� �1 Kt9�%��� D8�� �01%��= JM5 J��*9�� K, �= E0)��4  ���� u�� %� :�.

����� � J��&  �9��% +2 �t1M01 �= �( C K��G /�(5�8 /�(9 � �$ M �5 J��� %��a K�1�G �= M1�= �2

�
c�� �a�M" ���S� /��w���� J%�M8 I��Zh �=��= �9!�ZhM-5�= �9��% <� ^%�� �t1M01 �= I&�  .

K��G /�(5�8 ��!S� %��= K9�1�= �H�8�B= � ���� /A�= %� /�(9F�� I��" ]��w�|M ��@ %��a .

����� W/%�05�8 K-!1� � ��(�B /��= �1�. /�% �= ]��< <� K&��-� p�*B%� %� K9�1�= �2 � ��MSB �= KL�2

M ��@ %��a D��-� ��G .�1�. ��G M5�= K��>�� �� �$ /�% ���� %���9�� �r �-) <� �$ M5�= #�-) M1�= �2

1� M1�!  /��@�
8 �� �$ :>1%�1�. ]���� [1�F �= ��Mc � �@ �2 <� �B M-5�= ��  m94��= /�%�� M1�= �2

M-1�!  /��@�
8.

����� :�8 �H� <%� +�`-B ���� �� �= D��C <� �$ M5�= K�1��= M1�= /%�05�8 <� �&a �2 �2

M1C �!S= /��@�
8.

����� ��
$ K� /%�05�8 /��= #M5 I*8 <� �&a �2 �&-� I�1�=)#��B (JM5 J�< f�� <� �( C ���� �B

��5 >�!B �t1� K8%�� ���8� �.

�:�8 ��� <� J��*9��(TACK WELDS) K!  <�,� M5�=.

�P-� K!  <�,� ������ K
c� �. #�< �. � :�= �%�� %� �t� M5�= /��= ������ K2�@%�$ #�<

P-� �z� %� �$ ��!  Ia� M1�= W:�8 ��4  ��,1� Kt9��� #�< . �<�� ���� �0�B%�c %� � JM5 JM�

K� M-5�= J�%�C ��8�= :��� #C /�% K0� �0� �L��� �1 � M5�= J��9�� %��5 �1 P-� �% ���� #��B

P-� ��!B� <� s. �0 C ��4= W���@ I���-01 %��,� u�� �= �B J�< J��&-� <��  �%�� 
��Z4� K <

��5 
�F��� ���� I��Zh �a�M" �%�� %�.
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(-'->�"Y?�= d�� 
�� E1���@ E�. /%�05�8 
��
!F %� E1���@ s. :8�= <� \�-98� I(8oooooo�C ��oooo f�B #M

 %�(heat  affected  zone) HAZ W
��
!F p��5 <� �&a �2 ���� ���B� �H� E1���@ E�.

M5�= K� /%��h W/%�05�8 ./%�05�8 �1�% %� I�1�= K� E1���@ s. � E1���@ E�. /��� 

)WPS (M5�= JM�C .= 
�FiG� I(8 M-= �= �94�7.11.1 �%�M �9�� <����������270 ��5 �S8���.

�<� �9!$ V�H� /��� /%�05�8 #��< %� �0�B%�c %�}���t�9 �� �8%� K9�1�= WM5�=�}<� �9!�9 ��

 �01%��= JM5 J��� 
%��" K&��-� �
��� �= M �5 J��� :�8 M1�= �$ KBA��B� �1 � ������ �� �2

 ���� <� I!�a #C /���M5�= �1l %��a �=:

Y��k�B J%�M8 I��Zh �= ����|�}/w�-1�}w���t�9 �� �8%� 

\k%�M8 I��Zh �= ���� J<� E�=|�}/w�-1��ww ���t�9 �� �8%� .<� M1�&  ;��. ]�= 6���

�ww M1�!  <��,B ���t�9 �� �8%� .

��� k"&:<� E�= ���� K!�� ��a �@��w�-1�)|}w �9!�
�� (�. M5�= �� V��B K9�1�= ��� j

���@ 
%�c JM5 M�L�B :�% [&G ���� ��a �= D��-9� �94�= �1 � %�05�8 .� #�%�05�8 I�Sa��

E-B ��,1� <� #�0��M" �� �B �$ M5�= K�1�G �= M1�= /%�05�8 /�(2�t9�� KB%��" /�2

M1�!  /��@�
8 .J%�=�� � JM5 >�!B P-� J�t9�� �= {i��$ M1�= ��� j�.� �8�6� �95���= #C

K� ��F �2���90�� �$ KG��  %� >,= W��5 +$ ��� j�. I��Zh <� �0-1� #�M= ��5 �$ M �5

M �5 J�< P-� M1�= 
%�c #C %�.

��� k"&::�% [&G �= V1��5 #�!2 IHB � ��� j�. ��!0B <� MS= {�!��9�� ��� j�. 

W6%�75�8 M5 M2��� ��8� .. �$ ��5 E5�$ #�0�� M"�� �B K9�1�=  -. �B �q$�M" ��� j�

���@ ��, � ��� j�. ��!0B <� s. ���a� .]1� ��� %� #M1�= �Q�  ��Z4B �= I�� ]0!� 
%�c

���@ K��>�� ���� �M,� /%�05�8 �.�q$�M"�wj�. W��� j�. <� s. ���a� ���)]��. (

���@ I1�F% M1�= 6MS= 6�(��. ��
� ]�= #��< ]1� W��>� 
%�c %� � JM5 p��5.

l; � <�  ; �& >"#�"& ):�8 J��@ (���88��6��������������� : :�8 /�(��. ��
$

 ��5 ��8� KL�(  j�. �0-1� <� �&a � JM5 ^�>!� ���� �. u�� �= {i��$ K9�1�= JM5 ��!0B

���@ >�!B {i��$ :�8 ���G� K9�1�= .� J��= \MH� �05 �`  <� K9�1�= :�8 J��@ �1 n$

���  ��2 %� M1�&  /� ]�L�. M5�= ���� u�� <� �B .KL�(  j�. ��F)�% j�. �1 n�(#�-) M1�=

](. �9!�
�� m1 �a�M" �$M5�= #C p�*B%� � J��= :�8 ��G �2 %� ��8�� �. <� �B ]�= M1�=

}/��B�M1�!-  <��,B #C <� � J��= %��,� 6�2 ���� u�� <� �BA�= �9!�
�� .J��@ #�< P-�

8� ��(= ;1�(  j�. :�8,� �ooooooM5�= ;!  <� .
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��9��@ %�0= I�� JM5 �Z4� /%�05�8 :�% %� �$ K �1�8 
M5 �= M1�= /%�05�8 /�(-�5��

��5 .J<�M � /��= D��-� �9����C M5�= j�9�� %� %�0 �!�. V��B J%��!2 K9�1�= #�1�8 
M5 /��@.

����B� �1 � ���90�� �$ ��5 J��� J<�8� K9�1�& %�B�� 6�(2�t9�� ;*-� :�8 ���� �t1� /�(9!�a �=

 �. �H� >,=(BEVEL) K� /%�05�8 �$ M >= �a�8 ��5 .�$ M-1�!-= �% ���9"� ��!$ M1�= #�%�05�8

 �. �H� <� ^%�� #�< �a�8 ���M= ���� ]9��� <�(BEVEL) M1C �!S= /��@�
8.���B� I�� �<A

 ;� %��a ���� �. 6�% �� ;9!�a %� :�8 %�B�� 6�(2�t9�� ;*-� JM�!� N�  �= #�7�. �75 W���@

��5 6��@�
8 j�a ��,1� <� �B M5�=   �= �1 s� s-8 <� .

�J%�=�� <� {i��$ M1�= :�8 �H� Wj�. �2 /��8� <� s.(SLAG) J��@ ��>� 
%�c %� � ���@ f�.

P-� ��� j�. /�(5�8 M �5 J�< .P-� KL�(  j�.� �t1� /�2 j�. :�8 J��@ #�<(CAP) �=

�8� ��2K!  <�,� M5�=.J%�=�� ]95���= /��= IZB K!�� j�= �H*c<� K9�1�= �2 j�. ]1� �%��%�

��!  J��*9��.

�M-5�= JM5 ��!0B {i��$ K9�1�= <�% #�!2 /�(5�8 ��
$ %�$ <�% �2 �!B�� %� .

������� ��
$ %�$ <�% �2 �!B�� %� ��%� <� �$ M �5 �9�= K&��-� :�.%� �= ]�!�� K�1��= M1�= �2

M-$ /��@�
8 K8%�� ���8� �t1� � \C W
� ���" W���=< Wf�� .�M,� p��5 #��< �B E5�. ]1�

��5 �95���= K9�1�&  %�$ .Ia�� /�(5�.%�(Night Cap) M �5 J��� :�8 ���� �= K9�1�&  ��� .%�

J�% �= RG��B != Ka�= K9�1�=%�$ ��!0B #��< �B Ia�� /�(5�. %� J��� � � ����% WJ��8 ]2CM- �.

�JM5 6%�75�8 +(= 6�2 ���� ���� %� ��= I��" <� 6��@�
8 %�`-!=)I A�=%�B (<��= D8�� ��

��F� ;��� \�l �MF W�S�B p�  <� :�8 \6%�75�8 ��t-2 I�� �<A W���@ ;� :�8 l�*  �MF

���@ ��M�� :�.%� �= ���� ]���� � �2� W�S�a �2 .

�KL�(  ���B� /%�05�8(TIE-IN) = M1�= ��(-4�. �%�� ]1� /��= %�0 �!�. �$ K5�% [=��� ���$ Ia� �

��5 ��, � M5�= JM��% j%<�= M�L�B �= �� JM-1�! �1 jM-(� [1�G <� � J��! .

�E-B �01%��= M �5 #�>�� Ia� �= M1�= �(9!�a ]1� E-B �1 � JM �� �8 /�2 <� s. �
c�" K4-$�� /�2

M��= �a�M" �= /%�05�8 .#��$ I*8 /��=���� /%�05�8 ��t-2 �2(TIE-IN) %� ���gB I�� ]0!�

M5�= K��>�� ���� �M,� #��$ +� �1 � �� �$ D�5.

��2 /��= /%�05�8 #��< 
M�(TIE-IN) M2��� ]��SB �� JM-1�!  �1 jM-(� [1�G <� j%<�= M�L�B �=

M5.

��0�Sa��(TIE-IN) K� ��, � ��8�� ���� ���� �= I�� YQ�� %�0 �!�. W��5���� K&�  I�Sa�� �% �2

M2M= ���B� /��= �% �<A 
����gB � J��!  K�%�= ���B� �H� %� .��, � 
M� � #��<(TIE-IN) V��B

M5 M2��� ]�S� �� JM-1�!  �1 jM-(�.
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�J��MH� %� K��H� :�8 m1 ��8��}w ��0B m1 /�9!�
�� K!  <�,� J�@ M5�=.

�+�  � m1 K��H� :�8 �� �
c�� �a�M")}/�(/�2��a /��= � ���� ��a �=��=��a�M" �9!$ � �-1�

 K��H� :�8 �� �
c���}M5�= �9!�9 ��.

�
��*9� ;1�(9��Zh �= �2 ���� 6%�75�8 6��= �!S��%�9�� :6�(9��Zh �= V��� 6�2 ���� <� J��*9��

-�=�-�=;
��� �. ��,1� W;��MH� W;��h� 
��
!F �= <��  #�M= �2 ���� I��Zh �q��M" W� �(91...

�¡<� �o94�= �o��� J%�Mo8 I��oZh�o@��/��)���oS��|�9!�
�� (M5�= .KL��< E-B K9�1�= K� :�8

��5.)M-= �= �94�= 
�FiG� I(8438.8.9 �%�M �9�� <���	
��31�4 ��5 �S8���(.

)-'-2m"01� � "#5 A^ >�"Y?�= 
�K5�8 /�(,-
� /%�05�8 Ra�� %�� �
8���6��
�9��8��6
�� ���� �= �=�4� �(5�8 I�*�$ �2

��= M-2��� K
c� ���� V� /�% /�(5�8 I�*�$ . -
� J�@�
@ K
��� ��a�= ���� K
��� ��a �@�

 <� E�= �i9�� ]1� � M5�= �95�� �i9��1/16 �= �9@%>= ��a J<�M � �B �90)�$ ��a M1�= M5�= �-1�

 D�5��=����� �. �= �. �&� �B ��5 J�< P-� �#C �= �$ /K� :�8 ���@ /���� ��5) .%�M��

 <� �9!$ M1�= �2 �&� �i9��}/��9!�
��M5�= .�%�M �9�� 
���>�� �=��� ���� 6%�75�8 ���� %�

��5 Ia� Y
9Z� 6�(�-8 � Y
9Z� 6�(9��Zh �= 6�2.(�= I�� �<A ���� ]1� %� M-=���.�.v

�%�M �9�� <���	
���31�4 ��� �= � �S8�����5 �!F #C j.

�WM5�= ���� %�H� �= ��!F  -
� �H*c �$ M1C �!S= K��$ Ia� M1�= ���� �=  -
� #��� :�8 Ra�� %�

M-5�= �95�� %��a �9��% m1 %�  -
� �= JM �5 ��9� �
��� �=  -
� /�(��%�� �$ ���@ Ia� M1�= .

I4  <� /��@�
8 /��= �@ I�4  u�� �= �$ ��!  Ia� K9�1�= JM-1C /�2 I0��6��9
�� K&��C

M�� .

����� ��S=� �= D��-9� �( C ��S=� �$ �%�M �9�� /�2� �< � �(�2�% �� W�(
1M&B K� �2 �<A �. /�%�� � M5�=

���� �= D� �= D� %��= �4�  [&G K9�1�= M-9�2 ��5 J��� :�8 �2 .
A��B� ]1� /%�05�8 I�*�$

K� K
c� ���� ���� /%�05�8 �=�4� M5�=.

��05�8 �2��5 �= 
A��B� � �t1M01 �= 
A��B� /% � J��&  <�,� #���%��a�= 6� ���� �S�a)��� (�=

��G�a�M" �( C ��a ���S�I�� ;��>�� .#�>�� �= K���9� :�8 �� �
c�� �$ I�� �9(= {�H�8�B

 ���� ��a �=��= m1 �a�M")�H�8�B}/����� ��a �=��= (���@ �*".

�p�  <� K8��� 
A��B� I��M����
8��8
�� <� E�= ��a �=|� ��4  J��*9�� �H�8�B �-1�

 <� J��*9���.++3���+) ���@ K� ��c�B.
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��
c�� �H� :�8��K9�1�= V� #C K��H� :�8 <� ���� V� /�% %� I��M�� D�  ��a �B�|

�=��= W�-1��wT1 W�BA�= 6�2��a 6��= � �9!�9 �� K
c� ���� ��a �=��=)�H�8�B}/����� ��a �=��= (

M5�=.

�<� �9!$ �1��< �= K
c� ���� <� K8��� 
�=�S4 � �0�L�2�8 %�vw�1�% M5�= \�-98� �=�a ��� �8%�

���@ %��a [���B �%�� I�1�= K� � J��= ���B �=�a /%�05�8.

�M5�= K
c� ���� ��a �=��= �� <� �9!$ K9�1�&  K
c� V� /�% %� 
�=�S4 � #��� �
c�� .

�8 I(8 I(8 � :�8 \��F <��= <� 6��@�
8 %�`-!= W�2 P-�9�� � 
A��B� ��
� 6%�75�

 ;� W;1��
a 6�2���97�� <� J��*9�� ]1<��� � ��c� ��
� I1�F% �= n� � ]��. 6�(��. 6%�75�8

��� J��*9�� �( C <� #��B .����%�� �= �% �%��� ��
� W��8� <� �&a ���� ]1� %� I�1�= ;� %�7 �!�.

 b���M1�!  ?�� �% �<A 6�2<�,� � J��!  .

�
�=�S4 � I1��B :
�=�S4 � I1��B 
�H*c �0� ��<)Reinforcement ( WM �5 K� JM1�= �
S5 �
���=

M �5 /%�0-�5�� �1 JM5 J�< P-� � JM5 /%�$ #�2�� �( C ¢M5 JM1�= �&� I�1�= K� .
�H*c ]1�

 ��� I�%� I�Sa�� %� :�8 ��� �
���= M1�= K91��B s�� � M ��@ %��a:�% �= Fillet  weld �=

��5 :�8 ����.

*-'-"#?�= �%B81 
�EZ= 
�8%M-� �= �8�B�= K9�1�= �(5�8 
���!SB��%�M �9�� <�API-���� %�0 �!�.� ��5 ��, �

M2� ��, � �(5�8 /�% �= :�= �1� ��!SB � �tr�2 K9�1�= K! ����%�$ JM-1�!  M�L�B� %��" #�M= .

=�2 f�BM5�&��%�0 �!�. JM(S= �( C #��$ ^%��� #M1�=� M-5�&�� ��!SB �=�a��� \��F ��>-� �.

�M �5 J��� ��Z4B \��S� I$�5 �Q�  K-�F M1�<�= �,�9  %� �1 � /%���&�0F <� s. �0�L�(5�8

M5 M-2��� JM1�= �1 � JM5 ��!SB I$�5 �Q�  �`  [&G .�Q�  %��" %� K9�1�= \��S� /�(5�8 ��!SB

, ���1?. ��.

�K& �8 /�2%��5 /�%�� �0�L�(5�8(UNDER CUT) %� :�1?. 6�2%��S� �= �8�B �= M-9�2 KH�� �

�%�M �9��API-���� K� �Q�  �`  �M ��@ ��!SB M- ��B .M1�= :�8 �$ f�B JM2�4� 
%�c %�

M �5 /%�05�8 J%�=�� � JM1�= �1< b�4=:

Y��kJM1�= K9�1�= �$ K=��S� :�8 �r �-) mo1 Io�� �<A Mo5�= �o��� V� ��G %� ��5

 ���� <� �S�a)\��S� :�8 (+�  � m1 {�H�8�B ��a �=��= m1 ���S� ���=)}/�(�=��=
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�%�M �9�� j����= �(5�8 K��&a �%�M �9��(API- 1104) 2��� �o1< �%��� �= �94�= u1�4B /��= K�� W��= M

K� J%�5� ��5.

�K� ]�S� K-�F K�%<�= � \�Z���� 
�41��<C [1�G <� D�F p�  � #�>�� ��5.

�K� JM2�4� �$ K=��F M �5 :%�>@ I��� JM-1�!  �1 jM-(� M�L�B �%�� �$ KL�(��� %� M1�= ��5.

��1< �"��4� �%��� ]�= �i9�� 
%�c %�= ��=�% %� �1< D1�S� p�� � ��%�M �9�� �=�����1104 ��*�

K� �!F fi� �1< M5�=:
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�
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I�� ����� :�8 � ��= :
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M-$ <��,B �-1� m1.
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��5 �S8���(

w-�a�  ^�>9�������	�8
�
��7����) : �1l �%��� %��� ����� :�8 � ��= M2��Z  ��&a �%��
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I�� ����� :�8 :
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��(�1|}%���� I��Zh)I�� �9!$ ��M$ �2 (M1�!  <��,B.I��Zoh �= ���� �� �7�B%�c %�
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2(��G p�!,� J�@�2�� ��o�= W:�8 �9���. ��G �2 %�12 �-o1�)304.8 �o9!�
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 �= � ���@ ^%�� ���� V� <� ��2 ]1� K9�1�= � J��= <�,� M" <� E�= ���� ���� /��2 M5�= �9!$

M� ��% �a�M" �= �% ��2 ���� V� �= \C #��>!2 �M,� [1%>B � ���� V� \C <� /��1< �1���� ��
ZB .


9Z� /�(9��Zh�= ���� V� �r �-) %�M�� K9�1�= M5�= JM5 �9��� K*��!
+� <� m1 �2 /��= �%

��� %��a �1< ����� %� J�%�C I�M= �% �( C �MS� � J��!  �&��H� �(9��Zh:
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P �1 ��M� E = 2.11x 106 91!$�2

���� I��Zh =e

M"��:��K� /���� M5�= .%�M��</�2�%�M �9�� %� �G�=�� /�(�-H-� <� M1�= �%��� ���� ^��Z9��

��!  .

(-�-+,-K��"�� 	7"�Hi 
��
c�" /��
" E-B �$ M5�= /MH= M1�= I����� E1��<C %�4� JM5 ��!F� %�4� <����� %� %�

]�L�. �=��= V� ���  ]1�B �q��M" ~w%K!�
�B E-B��	F�� V� ���  ]1�BA�= %� ��a�M" |}/�

�B ��!  +���B �90)�$ 
�S�a �= �% V� K9�1�= 
%�c ]1� ��� %� WM5�= ���� K"��G %�4� �=��=

M1C I�M= ��� V1��5 .M-= �= �94�= 
�FiG� I(8437.4 �%�M �9�� <���	E  B31.4 ���5 �S8��.

)�%�M �9�� �= M-= ]1���� ���@ %��a �!F Ni� M1�= � �%�� I1����(.

�\�Z9 � %� I�1�= K� p�*B%� �i9�� WM--$ K� %�&F /%�2�� ��B /�(-��< <� ���� ���� �$ K ��<

���@ %��a �`  M� ���� I�B RG��� .�q$�M"}wp�*B%� �i9���9� �1}/w%+�
�B E-B JM5 ��c�B

I�� .M5�= �9� D�"�= I�1�= K� D�5 E1��<C %� \C M2 WI��" ]1�%� .�% %�= D�" �= \C %�4�

 %� p�*B%� �MF #��$ \�h �= #��B K�0.098 �%�C I�M= .

���5 K� J��*9�� I�B ���� #��-S= �1%� \C <� �@� )��5 ;!  ��c�B %�7-1� ��(D1�h0.101 

���@ %��a J��*9�� �%�� I�1�= K� .����� <� J��*9�� W�1%� \C /��@%�7= 
%�c %� ]!h %

I�� K��>�� ����%�� M�1�B �= K@�%�� JM %��<�= .

�I����� E1��<C J�H  :<� s. I���Q �q��M" �B %�4� E1�>�� V��B %�4� E1�>�� WJM--��. n!.

� � <� %�4� 
�&z 
�>�(,B � ��� � %�4� /�(B%�) W#��>!2 � JM5 <��C /�a%�4� n!. K� D�  /

M ��@ .K� Ya�9� %�4� ��!F� WJM5 ]��SB %�4� �= W���  ]1�BA�= %� %�4� #M��% <� s. �
c��i=

���@ .
M� �= V� %�4�|M=�1 K� ��
�B Y�  �= s�� � JM5 �95�� �t  I=�z %�4� ]1� %� IF�� .

K9�1�= M-1��� ]1�����@ %��7B �&B�� .�94�= %�4� E1��<C ��G %� �r �-) <��/w�= ��@�
�$

K� A�= �% #C %�4� ���� V� �= \C [1%>B �= ��!  �M�. I�� R=�� �9!�9 �� %�4� �0�B%�c %� � +1�=

 <� �94�=�/w+�2M�� E2�$ �% V�%�4� \C /%�M�� ��
ZB �= ��!  �M�. E1�>�� ��@�
�$ .��"�2%�

J<�M � Ia� �= �% JM5 ��
ZB �1 � K�1%>B \C �1���� �$ /��@K� I5����1 � J� +�L�!  .#�1�. <� s.

 WE1��<C 
M� #C K�%�= W;��h� 6��2 ��8� �MF <� #�-�!G� �%��a M�L�B �%�� E1��<C �r �-)

 K94  E1��<C %�4� M" �B �% %�4� I��@+�-� ;� +�`-B) .M-= �= [=���9.4.2 9�� <�oooooooo�%�M �

���/�/���370(.��G �S�a K9�1�&  I�B IHB <�|wM-$ <��,B �9��
�$.
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)-�-+,-:�? K��� Y7 
�V� %�4� W��2 ��8� �MF E1��<C ]�-r!2 � I����� E1��<C M�L�B <� s. %�4� M" �= �% ����

 K94  E1��<C %� �$ ���  ]1�BA�= <� V�|}/�M5�&  �9!$ K"��G %�4� �q$�M"WV� � JM� ��%

 %�4� #M5 I���-01 I(8 �1< b�5 [&G KBM� /��=K� J��� %��a �`  IHB 
%��" �8%� ���5 :

���� ��a �B /�2�ww �9!�
��)�v�-1� (���� W<�% m1 <� �94�= ��a �= /�2�ww �9!�
�� )�v�-1�(�B�}w 

�9!�
��)�w�-1� (���� W<�% �� <� �94�= ��a �= /�2�}w �9!�
��)�w�-1� (<�% ��.

*-�-+,-D�b/ 	7"�Hi 
��� M1�= K94  I�B M-= �= [=�437.4.3 �%�M �9�� <�A NSI/ASME��B31.4 M5�= .E1��<C ]1� <� �M2

K� ��8�B �=�a��� %�4� I�� ]95�M  M5�= .K� ��, � �1< :�% �� �= K94  E1��<C ���@:

Y��kV� M�C%� I���-01 ��" �= ���� V� %� 
%��" �8%� � %�4� �$ ��� 
M� #�1�. <� s.

94  E1��<C J���C ����K� KM5�= .
M� �= ���� V� IF�� ]1� <�|�%��a K94  E1��<C IHB IF��

J<�M � V�H� 
%��" �8%� � ���� V� %�4� IF�� �2 j§% � �9��@ K� I5����1 � JM5 /��@ ���@ .

� <�  -� %�4� J�t9�� V��B %�4� J<�M � /� K� /��@ ��5 .
M� #�1�. <� s.|��= E1��<C IF��

 ��1��� � K�%�= 
M� %� JM5 I5����1 ��a%� � 
%��" �8%� � %�4� /�2%���! |��,�9  IF��

K� I�� �= �1< ����� <� E1��<C M1C:

Ee
DX

K
+

γ−µ=

)(
21

TTfKP −=∆

KP
f
fH 2.0+∆= *
δ

21
PPPP −∆−=

9W
�&��H� D1�hµ+," ��1�<� D1�h W\CγW�A�� +," ��1�<� D1�h<K@��4� D1�h

 W\C�W���� V� ��aEP �1 ��M�E = 2.11�x�106�9g�/�cm2 W+W���� I��Zhf
fδ

D1�h

 W
�&��H��W
�&��H� D1�hP∆W%�4� I�� �a�M";�4� <�,� 
����gB �q$�M" W%�%�4� I��

M-9�2 
%��" �8%� 
����gB ]9��@ �`  %� �= .�1����f
fδ

W(WγWµW<K-H-� /�% <� �G�=�� /�2

 /�2�%�M �9�� %�I�S �A�I M-9�2 ^��Z9�� �=�a .
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%�M�� �r �-) 
�&��H� <� s.P<� JM�C I�M= %�M��H� ��&a �%�� E1��<C M5�= W/���� �1 �9!$

 %�M�� �r �-)P%�M�� <� K!$ �i9�� �=HM5�= �94�=)M�L�B �= � �� JM-1�!  �1 jM-(� [1�G <� J%���

�1 ;-� 
��M� K-� j%<�= (E1��<C|�E1��<C 
%�c ]1� ��� %� � JM5 M1M!B �t1� IF��

K� ����� = K9�1�= %�0 �!�. � M5�= %� � �Z4� �% %�4� I�� I
F � J�%�C �!F �= �% �<A /�(��%�

M1�!  E1��<C J���C {��M,� �% V� � J��!  ��Ma� #C R�%.

\k���@ K� �&��H� �1< ��=�% <� ���� %�4� I�� W��� 
����gB �= �8�B �=:

d�= (β/((0.876RI/S)+A))*14.7        (in �Si) 
#C %� ��RI W���� K
��� p�S5S���� ���S� I��Zh A � \C K@��4� D1�hβK@��4� D1�h

M5�= K� \C � �A�� .

��a�M" %� K94  E1��<C %�4�E1��<C �%�� �S�a ��GWI����� E1��<C %�4� �=�4� ���� V�

K� M5�= .

�K94  E1��<C M1M!B V1��5 :��, � K
&a E1��<C <� MS= <�% �� <� �B��< K9�1�&  E1��<C M1M!B

��@ �= ]��< /��� �$ ��!  ���B K9�1�= ��5 JM1� 
%��" �8%� K �(@�  
����gB �$ KSa��� %� �

��!B %� K9�1�= ���� V� �M,� E1��<C p��5 �B ���@ p��5 E1��<C s�� �94@�= /��F I��"

J�t9�� V��B K9�1�= 
%��" �8%� � %�4� 
����gB � J��= �`  IHB 
M� ���@ I&z 
�&z /�2.

�1 E1��<C�9F�� m)�0+�)+')(:���� /��= K� %��a E1��<C �%�� �$ KL�2 �( C +," �r �-) M ��@

 <� �9!$�wM�L�B �= #C �q$�M" � IF�� m1 E1��<C #��< �a�M" M5�= DS0��9�%���J;-� 
��M�

 �1K� ]��SB E1��<C #��< %� ���� V� I�Sh� � I�Sa�� �= �8�B �= � K-� j%<�= ���@.

�,�9  K�%�=E1��<C �:%�4� ]�= �i9�� 
%��" �8%� 
����gB �= �8�B �= E1��<C <� MS= �r �-)

 E1��<C �!B�� %�4� � E1��<C p��5 %�4� E2�� <� �9!$}�%�� E1��<C M5�= R=�� �-1� �= M �.

 <� �94�= K!$ �1 � /���� %�M�� ]1� �r �-) � ��&a}JM5 M1M!B E1��<C M5�= R=���9� �-1� �= M �. �

<� �94�= K
�� �i9�� %�M�� �@�}K� ����� E1��<C M5�= R=�� �-1� �= M �. M5�= .E1��<C #��<

V��B �9F�� m1 �1 ;-� 
��M� J%��� ;t-2�!2 �= � �� JM-1�!  �1 jM-(� K� ]��SB K-� j%<�= ���@.

�#��$ m4� � ��
ZB)M-= [=���13 �%�M �9�� <�I�S/�/�I�370(:M�L�B <� s. V��B K94  E1��<C

E1��<C �= ]1�Q�  W�G�=�� ��
,B%�c +�`-B ����@ m4� � ��
ZB \C <� ���� V� K9�1�= .�r �-)

 J��>�� E1��<C \C �= K@�%�� JM %��<�= ���� K9�1�= M �!= Ka�= ���� %� KBM� M1�= \C K

F �=

��5 .4�= M5�= +2 K@�%�� JM %��<�= ���� /�%�� \C �@� 
%�c �2 �=K!  J�� E5 <� �9 \C #��B

��!  m4� �� C � ��
ZB V� <� �% \C K9�1�= � I5�M2�t  ���� ���� �% .�$ \C ��
ZB <� s.
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K� JM �% �
8 �= ��@ /��2 �= �$ m.�B M-) V��B �5 MWK� ��, � ��5)\C �$ ��5 Ia� M1�=

 �= KB�%��� ���� <� JM5 ��
ZB�%�� I�1< V�H� �%���  (� V� K9�1�=��!  m4� i��$ �% ��� .K9"

��!  J��*9�� �� �9� <� K9�1�= ���$ #M5 m4� <� #�-�!G� /��= .V� /�(9 � <� �$ K1��2 I(8 �(=

K� ^%�� M5�= �95�M  ��� �= K9=�G% � �tr�2 � J��= m4� i��$ K9�1�= ��5.E�. Ra��� ]1� %�

%����!� �
���= ��@ 6��2 [1%>B ;-�=W���� �S�a #�%� ]�=��B�I�� ;��>�� %�7 �!�. V��B <�%.

�= V� WM �!= K��� K9�1�= KBM� � �9��t  %��a J��*9�� �%�� ���� V� #��$ m4� <� s. �@�

K= /�2<�@ �1 � #U��9�  K9 �� �= ��@�
�$ m1 %�4� �= �z� J�(= #��< �B � JM5 �. R=�� �9� IHB /%���=

J�t  %�4� ]1� ��4�� �95�� .]�-) %� K� ����%�$ JM(S= �z� K= <�@ ��(B K�1��5 M5�= .�o0�B%�c %�

  -. /�(-� +-&5 ���  M" �B �% K41��<C ���� V� <� K8��� /��2 %�0 �!�.)}k(���t�9 �� �8%�

M5 M2��� Ra�� ��&a �%�� ��4= ��, � �$ /�H  �(= V� #��$ m4� WM ���=.

+,-�-+,-%�H >�� �� ���� a%1"�����%. K91 c
�<� W#��M� ��� ���� m�B�9��%M�2 I�B �1�% �%��� �1�� %� W��5 K� �Z4� �$ /�%��� >,=

M-0�� I�S&B #��M� ���� I�B �!S��%�9�� .���5 �1�% ]1� :WK �% m.�B WV� #��$ >�!B

M5�= K� V� #��$ m4� � K94  E1��<C WI����� E1��<C WV� #��$�..

��" %� %�4� � ��� 
�&z <� J��*9��I��  /%��h ]��< /�% %� ���� %�4� I�B ].

�M-5�= JM5 P % I�B <� �&a K9�1�&  
A��B� � ���� ����.

�M-5�= ��� /�8 %� � ���$ M1�= V� /�(B%�.�� ��!B m�B�9��%M�2 I�B /��=.��� /�(9��" %�

��$ J��*9�� ���� #<� �!HB I(8 K9a�� � K��h� /�(B%�.�� <� #��B K� .>1�� �= ���� +2 � A�=

M �5 I�B #��>!2 %��= W�(B%�.�� I���9�� #�>�� <� \C #<� <��,B #�0�� I
S= K9�1�&  W%��8.
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2"%ABC 
W�_� :��; 3%B1 � K��� 
�V1��5 I1�F% �= J�iF I�� YQ�� %�0 �!�. M��% #�1�. �= 
��
!F �0 C ��,� �= V1��5 %� ^%M-�

�%�C �!F �= �% �1l 
���Ma� #�!�. K��!F:

Y��k�(
��� � KL�9��% /�(2�% W/<%��4$ \C /�(�� �$ K!L��� K���� /<��<�= 

\k�$ K��!F�1 Kc��� fi�� � ����� <� KL�(9!�a #�%�C %� ����� I��" �= � /<��<�=
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!F M �= u�� \C � #�9�2�$ <� JM5 �1<��� /�(=C I�1�=
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c� V� �= V� m1 ���B� /��=
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�-+�-<�� ��. 
%A
1 � >H��/� 
+-�-+�-2"%A; 
�� KL��8� 
��
!F ��!0B <� s. V� 6<�M � J�% � ;9*  ���� [1%>B 
��
!F W;1�(  ���B� ��, � ����

#��< ��� �= [&G �= ����%�$ #�@M-1�!  K9��.�� IHB JM5 /M-= WV� � ��, �%��a %�4� IHB M-2���



���� ���
 ������ ���� ������ ��� � 
���� ��� ����	
%���& $#��#� ++����
 ��
 '()* *( 

I��@.M1�!-= �% �<A /�(0!$ � �@�2 �� JM-1�!  �1 jM-(� �= ��� ]1� %� I�� YQ�� %�0 �!�. .]1�

J�% /��= WJ��� � �<A 
AC ]�5�� � %�>=� W�@%�$ ]���B ���5 �(0!$ ��= M2��� /<�M �.

�J�% �!S��%�9�� %��� %� � JM��% ����%�� piG� �= i&a M1�= /<�M ��$ �= �01 ^��9"� ����%�� m!

��� M2��� %�0 �!�. �= �% �<A 
�%�9�� �� JM-1�!  �1 jM-(� I�� .J�% �1%�B �a�M" /<�M �|�IF��

 %��" �= � JM5 [���B ��� �= [&G 
%�c #C %� �$ M5 M2��� J��� piG� %�0 �!�. �= <��C <� �&a

�, � �<A 
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��*  � ����%�$ JM-1�! I��@ M2��� �.

���!F � ��� �-��. <� IQ�*" I(8 %�0 �!�. � ����%�$ JM-1�!  V��B M1�= �<A KG��9"� 
���Ma�

 ]1� ��, � Ra�� %� ����%��� ���@ ��!S�.�� JM-1�!  �1 jM-(� �= {i&a M1�= %�0 �!�. KG��9"� 
���Ma�

 � ��5 J��� piG�jM-(� K�I1�*$ �MF ��Z4B 
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�
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J�% �0
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� ��5 W���@ �c� I�� � M �5 /%�0�1�@ i��$ ���Z� s1�@ �
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I!�a J�% �= K-�!�� ���  %� JM4  /<�M �DRAIN PIT ��5 ��
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ZB /<�M � ��= M2��� %�0 �!�. JM(F �= WM5�=.
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^k��5 <�= #U��9�  <�@ [1%>B �0
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�k���� �$ ��5 �c�" #�-�!G� M %�� %��a K-�!�� �H� %� ��
ZB /�2.

o2k��5 [1%>B K
c� ���� ���M= #U��9� .
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ZB �0
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I��1 M2��� ����� M5�= J��0 .
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 J%�!5 �= #��1� I*  
��=�Z� �PD-������ ��1?. 
%�c.

)-+�-
��� 	?�& K%S%; 	7"�Hi 
��� c�^�� O7�_1 p\�� �� �"� �� :�^�� >".
 �"Y/"B%& H�(COATING RESISTANCE TEST) 

�E1��<C :�%:K�1�F 
A��B� � �(,-
� �$ M5 ]�!�� M1�= �M9=� �1�� <� �% E1��<C IHB �0&5 �$

M-5�= JM5 D�  u�Hc %��= � JM1M  ��Mc M-1�!  K� [1�F K01�90�� �`  <� �(9!�a .#C �= J�iF

M-5�= �95�� K01�90�� ���MB WE1��<C IHB �0&5 /�(9!�a ��!B M1�=.�= �% ]��< �= I&�  ���� ��� �9.

���90�� �= � �9!9�� �= � �9���� �9. J�t9�� s�–��!  /��@ J<�M � M1�= s� 
�*���.�1�*�9$%

 
M� � ��!  ]5�% M1�= �% �0&5 %� ��8���M�4$ %�`9 � #����>1%i. U�9�� /%��a�= /��= <�% .

�H� %� ���� ��� �9.(DRAIN POINT) )���� �= K*-� �=�$ ���B� �H� (�0�9a� M1�= ]��< �= I&� 

/�% �= M5�= ��� p�  <� /%�0�1�F }/�/�% �= M5�= ��@ p�  <� /%�0�1�F �$ K9a� � I���/|I��

���@ +�`-B.��$ /��@ J<�M � M1�= �% �1�*�9$% K8��� ���C � I�� %�M�� .�1�*�9$% #��&  
%�c %�

 ���5 m1 <� /M C �9�= #��-S= � ��&��B� /�G�= �1 � /%�05�8 ��= M��� <� #��9�� /MB�$ J�t9�1��

IZ� �h��a ���� ��!  J��*9�� ]��< %� .m1 �1�*�9$% #��= ]5�% � ���a� �� K5���� 
M� �0��

M5�&�� ���a�.

�E5�. K01�90�� I����� �&��H�:M1¬�� I�M= �1< ��=�% <� E5�. K01�90�� I�����:

( )
I
UUSR 12 −=

�#C %� ��RR=�� �9� +2� D�" �= E5�. K01�90�� I����� WS��� ���� �$ u�� �%�� �0&5 �

R=�� �9� D�" �= E1��<CWU1 1�*�9$% :���� I��" %� �0&5 ���� V� ���  ]1�B%�� ��� �9. �= �

W%��,� ]��< �= I&�  I�� D�"U2 #��= ]5�% I��" %� �0&5 ���� V� ���  ]1�B%�� ��� �9.

1�*�9$% W%��,� ]��< �= I&�  I�� D�" �= ���" �= �1�*�9$% K8��� #�1�8 %�M�����C DI�� .

��2 �$ K-S� ]1M= �%�� +��9�� ��=�% /%�0�1�F /��8� I�*�$ �= E5�. K01�90�� I����� %�M��

M5 M2��� �94�= E5�. I����� M5�= ?*-� #�M=� �B �)%��01 E5�. J<�M � .��&a �=�a #�>�� �a�M"

 ���9 � ���� �%�� %� E5�. KLC%�$~�%�0&5 ���� ���� �%�� %� ��� M5�&�� ���M= /�(5 /�2

 IQ�*" #�1�8<� K9!�a ]9�%%M2 D8�� �$ />
� #�!9��� � K-��<�1< ���� ���� � �(
=�$ ��8�

 {�%�&8� KLC%�$Mc%� ]1�M5M2��� /MB�$~}%��4�� ���.
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�E5�. KLC%�$ #�>�� ]��SB:#�1�8 +$��B #�>�� �M9=� I�� �<A %�$ ]1� ��, � I(8)I&� �!� (

 �0&5 �1 ���� ���� �0&5 ���  ]1�B%�� ��� �9. �0���" %��}/w�8�B �= s�� � �&��H� M5�= I��

 #�1�8 +$��B �=�I&�  ]1� �=��= /MB�$ IQ�*" K"��G �)�9�� %� �$ ����� K"��G %� JM5 %�`-�

���@ ��1��� m1 J%�!5 ��M8 �= I�� JM5 �$l.K"��G %� ���M9� #�1�8 +$��B %�M�� ��M8 ]1�

 /MB�$ IQ�*"M2M�� I�M= �% �0&5 � ���� ���� .�= I&�  #�1�8 +$��B ���h� ��1��� ]1� %�

 /�2Mc%� �= I&�  #C �9(= I�*�$ � �4  #C /��$ � E5�. �B ]�L�. I�*�$ �t �4  ��M8 �1����

��= M2��� �G�=�� KLC%�$.

<�"B? ���=+-+�:7��"! h9� �� :"7�= ]!��1 KX9/ �7�"��D	?�& 

��!�.�� YQ�� %�0 ���" �MF 
%�c %� I�a��  � 
A�05� R�% I(8 %� ��&a �=�a  1�9 

= �B �% 
�41��<C � M1�!  ��Ma� E5�.J��� ����� \�
��  1�9  #�%�C I�M �1 jM-(� [1�G <� �

M��= K-� K�%<�= M�L�B �= �� JM-1�!  .K01�90�� I����� j����= #C  1�9  � 
�41��<C ]1� 
��L>8

E5�. � �1�HB ��
,B%�c �= � �&��H� u�� M"�� %� #�1�8 +$��B V��9� %�M�� � #C KLC%�$ �

���@ �!�!h JU��. ��HB.

�[1�G <� K-� K�%<�= JM-1�!  �1 �Q�  
%�`  �= �$ 
�41��<C ��, � � <��  �%�� �L��� f%�MB � ��(B

M5�&��%�0 �!�. JM(S= W��= M2��� �� JM-1�!  �1 jM-(�.
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+-+'-D_�� >H"� <�"�i 
�/>
� /�2 J<�� �= P % ��!F� <� �&a KH�� /<�� J���C :�% K
� %��=)���� ��
$ #�r!2 /�2

J�t9�� W
A��B� W�2��5 W�(,-
� W�2 J�%�C��� I*  W<�@ ���9 � J<�M � /�2 @�1�. W/�� %�&F �. /�2

]��< /�% />
� 
�����B � ���� (:�%J%�&�� E5�. I�� .��!F� <� �&a I�� YQ�� %�7 �!�.

 
��
!F W/>
� /�2 J<�� �= P %;1��< P < EZ= j��� �= [�a� %��= �%�� �!-2�% �)�9�� ]1�

 �G�=�� �%�M �9��)IPS-C-TP-��� (�%�� V��B M�1�B <� s. � J��� ��, � +9��� ��!F� �= I&�  W���

M1�!  ��Ma� P % .

�J���C <� Kc�� p�  �= <��  �� M5�= /� � �t= J<�� T1 /��= K=�Z9 � P % +9��� p�  �7�B%�c %�

 KH�� /<�� J���C WJM <�� I��5 ��c�B j��� �= I�� YQ�� %�7 �!�. WM5�= �95�� KH�� /<��

���%�� V��B M�1�B <� s. � J��� ��, � �%M1�!  ��Ma� P % +9��� ��!F� �= I&�  W� .

���, � ����%�� %�9�� �1 � JM5��1 �%�M �9�� j��� �= K9�1�= />
� b��� <� ��� K"��� /<�� J���C

���@ .���� ��!B WJ��$ >�!B \�� �% #C u�� �M9=� M1�= \�) #��$ P % <� �&a ��q� #��-S=

#C u�� <� �% J��� � ]1<% ��&a <� K8%�� ��!  f�. .K=�� Rh� �r �-) �% \�) K
&a P % {�-!h

M�5��B J��&!� �= M1�= �%�M  .>�!B {i��$ K!�� j�= �= M1�= �% u�� WK-9= b��� />��C P % /��=

��!  �M8 u�� <� �% �5 
�%l � ��$ .��
H� �= �% JM5 >�!B u�� s���w%�9�5 m1%M1�
$ M���

>�!B \C �= I�4 ��� E5�8 K9a� �s�� � ��5 m4� �B ��$ �&c � ��� �49�5 �% b��� ��!B

��!  P %) .�%�M �9�� �= K-9= b��� /%�$ P % I(8IPS-C-TP-��� ��5 �S8���(.

�-+'-|/� >"#B�9%� 
�J���C <� s. �
c��i= �� �!1��. �1A T1 ���5 Y1�SB �= �-= W/>
� J<�� T1 /��= P % +9���

!F� u�� /�% �= KH�� /<��I�� K1�(  P % �1A � K ��� P % �1A W���@ K� ��.

��%�M �9�� j��� �= />
� /�2 J<�� /��= P % /�(!9��� \�Z9 � K
� %��=IPS-E-TP-��� �

��1?. K� 
%�c I��5 %� /%�8 /�2 ���-4Z= � �(
!S��%�9�� .�!9" %�7 �!�. K=�Z9 � P % p� 

% ����%�� M�1�B �= ��!F� <� �&a K9�1�=M5�= JM�� .

�]�F %� �� M � JM5 �h�F %�<�= �= >�  �1A TB �1 �1A �� P % /�(!9��� W/%��-� I��4�. �= J<����

M %��%���= >�  /�9!� /�(9��Zh <� WK9-� P % /�(!9��� <� �B�= K1�(�@�1� #��=�%�� ./��@%�7=

M��= ����%�� M�1�B �= M1�= ��� WJ��= R ��i= ]1�  P % /�(!9���.

�J%�!5 ��M8 j��� �= � J��= ��� Kt % W
�>�(,B <� T1 �2 K1�(  P %��� <�oooooooo �%�M �9

IPS-E-TP-��� ���@ K� \�Z9 � .j��� �= �% �2 J<�� <� T1 �2 K1�(  P % I�� YQ�� %�7 �!�.
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M1�!  ��!F� W����%�� V��B M�1�B <� s. � J��!  \�Z9 � ��M8 ]1� .
�`"i� ��
� ��!F� JM5 J%�5�

� ��M8 ]1� %��I�� K��> .

�-+'-|/� �"BC� �� D7��=� 2"P/ 
��9�= WI�� JM--$ �Z4� M$ � JM <�� +�� /�%�� �$ +��� ���Q %� M1�= P % M5�= JM5 /M-= .

)M-= �= �94�= 
�FiG� I(813.1 �%�M �9�� <����������102 ��5 �S8��� (

��� �2 KL�(  P % � K ��� P % W�!1��.P % +9� M5�= JM <�� m1 <� M1�= />��C.

��i" W�(t % 
%��" �8%� #��9= � J��= E$��2 /�%�� �$ KL�(
H� %� M1�= P % %�>���B�$ ���� � �2

��*a %� ���Q � JM5 %�& � W��!  +�`-B J��Z�M= �% #C ���@ %��a \�9�C �S5� <� %�� � />
� /�2 .

�� ��(-4�. [&G M1�= %�& � 
%��" �8%����@ +�`-B JM <.

����@ ��, � JM <�� ��(-4�. j����= M1�= #C #��$ [�a% >�  � P % #��$ J���C.

�/��� ]�= ��1< 
%��" �8%� <� %�� �= WE$��2 /�%�� ��B� %� M1�= P %��B|�� ���t�9 �� �8%�

��5 /%�M(t  M�5%�� �S5� <� %�M=.

���� M1�= %�& � %� �(t % /%�M(t  #��< �q$�M" �%�M �9�� �= [=���������102 M5�= JM <�� ��c�B�.

�#%M� � ]1�9(= �= M1�= %��� ��
� P % /�(5�% ]1�B JM5 P % u�� � JM5 ��, � />��C /�%��

M5�= >�!B � \�� /�2�Q) .M-= �=���%�M �9�� <����������102 ��5 �S8���(

�K� P % �$ KH�� %��,� b��� �$ ��5 Ia� M1�= Kt % W��5 ���t .

�P % <� �&a M1�= �($i. � 
�8%� WK, �= ��>8�� �2��5 �( C /�% �B M �5 JM �5�. {i��$ />��C

��4  Kt %.

�J�(� � ��. M �5 >�!B �i" �= #��$ >�!B :�% �= M1�= �2.

�� ��%�$ V��B JM5 J�< P % �$ KB%�c %�)����� �1 K
c� P %���20�$�(%� WJ<�� T1 /�% �=

!�a K�S= <� K45�. �= � J��$ >�!B J��&!� � j�= �= �% I!�a #C P % M1�= M5�= JM1� 
%��� �(9

K� J��= %�0= � ��� P % #��-S= �$ Kt % p�  #C �< #C /�% KL�(  P % s�� � M �5�. ��5.

�P % #�0�� �$ KL�8 %� � ��5 ��, � �L��� ]1� <� K&�$�B �= �1 ���9��. Wm�
� Wj�= �= M1�= />��C

%K� M5�= �95�M  ��8� ��� �L��� �= \�� #��$ P  ��$ J��*9�� M-*��@ I��. <� #��B.

�P % ���@ ��, � ]0!� V1��5 ]1�9(= IHB M1�= />��C .�1< ��2 
%��" �8%� K9a� K
$ %��=�/�

<� �&a ���t�9 �� �8%��*c �1< �= 
%��" �8%� I�� ��!9"� �$ K ��< �1 � M5�= ���t�9 �� �8%�

 m4�P % WM5�= �95�� ��8� P % #M5 ��5 ��, � M1�&  />��C.
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���2 I=�G% �8%� �$ /�%��� %� � M1C I�M= �`  �%�� I��Zh �$ ��$ Ia� M1�= ��� /��2 %�

 <� �BA�=�}%P % M1�&  M5�= ���@ 
%�c />��C.

�<� E�= 
%��" �8%� %� �% �A��}|B [&G �$ KB%��" �8%� �2 �1 � ���t�9 �� �8%� JM <�� ��c�

��$ P % M1�&  WM5�= P % /��= ���.

��� WK �%�= /��2 %� K!  <�,� #��$ P % %��%�Z= � K��= W���C m4� <� �&a P % �r �-) � M5�=

�1 ��S� %� #M5 ��5 m4� P % �B ��$ �&c M1�= ���@ %��a ��= �1 #�%�= W��1< I=�G% W#�M-=W

J��$ f�. �% JM5 \��� /�(9!�a P % s����!  P % {��M,� u�� #��!  J���C <� MS= �.

���$ ��!F� �% /MS= �1A s�� WJM5 T4� i��� M1�= �% P % �1A �2.

�/�(
H� #��$ ��!SB � #��$ >�!B <� �&a M5�= JM1� ��Mc ���  K�S= %� �!1��. �$ KB%�c %�

��!  >�2�. M1�= KL�(  P % �1A #��= %�0= <� JM1� D��C.

�I��Zh p�!,��1A E�. #�>�� �= [=��� M1�= P % /�2 P % �!S��%�9�� %� JM5 K-�= M5�= />��C.

��-�t % /�%�� /�(t % �= [1�F 
A��B� �$ K9��" %� K� P % />
� /�2 �!S= K��$ Ia� M1�= M �5

M1��  ��8�= ��� 
A��B� #��= [1�F %� K��05� � �tr�2 �B M1C.

��2 #�M= ���9��. <� �$ KSa��� %� �)Airless (P % /��= K� J��*9�� />��C �$ ��$ #�H9�� M1�= ��5

M--$ %�$ \�� W%�4� +�`-B �!$� � ���9��. f�  .��c�B I�� �<A %�`-� ]1� /��= �%�� �1< /�2

���@ %��a �8�B :]�= M1�= R1�� %�4����B��w ]�= M1�=  -�%�4� f�  ��%�� �o�a WM5�= %�=w�}/w

�B �-1�w��/w�-1�)��/w�B �9!�
����/w�9!�
�� (K��c /�%�� ���9��. � J��=vw�1�ww WM5�= E�

 #C K
��� ��a � J��= ����� KL��!�5 ���� � %�4� �=��� %� M1�= J�t9�� P-
�5|}/w�-1�)�/v

�9!�
�� (J<�M � �= ���9��. M1�= %�$ ��t-2 WM5�=�|�B|��-1�)�w�Bvw�9!�9 �� (�� <� �$ KH

P % K� />��C #�>�� ]���B K1� ��B I�1�= K� P % � �,-@WM5�= �95�� �
c�� ��5|}/w���a� �= �9��

 �B}M5�= �95�� �% ���a� �= �9��) .M-= �= �94�= 
�FiG� I(814.3.3 �%�M �9�� <����������102 

��5 �S8���(

�JM-1�!  V��B �$ /���� � %�$����%�� [=��B �MF ���M= V��BM1�= ��5 �9��-5 ����� 
��Z4� �=

���@ ]1>t1�8 � JM5 u�H�B %�0 �!�..

Rev.4



���� ���
 ������ ���� ������ ��� � 
���� ��� ����	
%���& $#��#� ++����
 ��
 '()* +�� 

W3��3 A��:

��UUUUUY�.�< ">� 



���� ���
 ������ ���� ������ ��� � 
���� ��� ����	
%���& $#��#� ++����
 ��
 '()* +�' 

+-+(-2"44%A; 
�J�% � D�  ���5 I!�a ]1� %� �"��4� 
��
!F +9��� �= ��=�� 
�>�(,B � 
�����B /<�M �

���� /MB�$ IQ�*" K� #��M� /�2 M5�= .�G �$ KB%�c %� �L�%� %�0 �!�. V��B IQ�*" +9��� K"�

�1M�L�B ?�� M5�= JM5 �4�  � K"��G /�2 K��>�� %�0 �!�. /��= ����%�$ /�� <� V&B�� KL��8� /�2

I�� .�%�M �9�� +,-. M-= j����= ����%�$ � %�7 �!�. Y1�Q� ���"IPS-C-TP-��� M5�= K�.

�� V� +L�� 6MB�� IQ�*" +9��� 6��8� �7�B%�c %� <� E�= W���v%�7 �!�. I�� �<A ��&= #��< J��

�= I&�  6MB�� IQ�*" +9��� 6��8� � ;"��G M1�!  ��Ma� Ia�� .Rh��� 6MB�� IQ�*" 6��8�

 Ia��)� ����% �= RG��B %� J�1�= (M�1�B �= ��8� <� �&a M1�= �(!9��� � �t-1� ;"��G ]�-r!2 �

M5�= JM��% ����%��.

�-+(-"9%�{1 h0/D�7�31 :"7�= H� <�"S��� "� >�1"; Ku"S� ]�9%� �� 2�3%#51 � 2

��%�M �9�� �= [=��� M1�= 
�>�(,B ]1� D� NFPA – �� M5�=.

+-�-+(-"o�97��7H O���� O�"? <�  ;�9Y7 ��X� <
�Y��k�1�. y�M"� �4�  [&G �= JM5 y�M"� �1�. /�% �= �M&� D�  � JM--$ ��01 �M&� %���9�� /�2

9�� �%�M �)M-= 
���>�� ��
�6.2.2 �%�M �9�� <����������820 ��5 x�H
� K9�1�= (� �o!o" ��ot-2

 �Mo&� �o= Ko&��C � �otr�2 �oB J�%�C �o!S= �<A Ioa� Io�� YoQ�o� %�o0 �o!�. Do�  � �o�o 

��4  �%�� JMo--$�o�01 .�= [=��� I�1�= K� JMo--$�o�01 �Mo&�����	�
8�155 M5�=.

�\k/�(5 \��-9� ��= �=�$ ���B����� #�1�8 /�(
=�$ � JM--$ ��01 �M&� /��%� �= %�9-$ <�

 +��9������ /M C �9�= � ���� �= D�B�B �= JM--$ ��01 �M&� I&q� � K*-� K8��� <�.

�^k�M&� D�  �H� �$ /�%��� /�-q9�� �= �%�M �9�� �4�  [&G J�t9�1� %��" D�  � ��(B

%� JM--$��01 E�. 
�����B �1�� %��" ���� M5�= JM5 K-�=.

��k/�%��� %� >,= �G�=�� KL��8� �%�M �9�� �4�  [&G /MB�$ IQ�*" J�t9�1� ]��< �= ���B� D� 

 J�t9�1�� J��= ]��< �= ���B� +9��� /�%�� �$ KB�����B �1�� %��" ���� %� JM--$ ��01 �M&� �$

< �= ���B� +9��� �= M1�= /MB�$ IQ�*"M5�= �c� ��8�� ]��.

�Jk�1��5 %� 
���>�� W��5 K� ��, � N� ��� [G�-� %� K71�97�� 
��
!F �� K�
��79.14 %� �=

 /�2�%�M �9�� � ���-� JM5 /M-= ��&G /�2 �4�  ]9��@ �` ����	�
8��110/1,2 �`  %� I�1�= K�

��5 �9��@ .
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�-�-+(->�/i ��9� 
�I�� �1< p�� � ���5 /M C �9�= K
$ %��=:)M-= %� %��?� �%��� ��
�6.2.1 �� <�oooooooo �%�M �9����

�����820 ���@ %��a �` M� K9�1�= .

6��-/��!F � K��� /M C �9�= :��o �$ ���� %� /��!F �1 K��� %��= �2M C W�9�= p�  ]1� %�

K� D�  �G�=�� �%�M �9�� �4�  � %�$ b�5 [&G M �5 .� %�$ b�5 %� �2M C ��MSB � p�  �Z4

���@ K�) ./�2M-= �=6.2.1.7.1,2 �%�M �9�� <����������820 ��5 �S8��� (. 

f-K=C J�) p�  <� /M C �9�= :^%Mo-� 
��Z4� [&G /%�*" �9� <� J��*9�� �= K=C /M C J�)

 /%�?o@ �io� <� so. � �o*" �!�!oh mo1 J%�!5 m�B�!5 �4�  � �%�M �9�� KL��8� �4�  %�

%�$ b�5 [&G �= �2M C �4�  �Ko� �o�!0B � Do�  /Mo C J�o) %� �%�M �9�� KL��8� /�2 M �o5 .

M C ]���� �B \C u�� �
c��)J�) �� <� (��M" M1�=�wb�o5 %� �2Mo C ��MoSB � p�o  M5�= �9�

���@ K� �Z4� %�$.

w-m4� J�) p�  <� /M C �9�= :�o4�  [o&G � /%�o*" �o9� <� J��*9o�� �o= mo4� /Mo C J�)

�M �9�� KL��8� � %�$ b�5 [&G �2M C /%�?@ �i� <� s. � �*" �!�!h m1 J%�!5 �4�  � �%

K� D�  #C KL��8� �4�  �o= �o��$ %�o�= �% �o( C ���G� �<A /�(�4$ �=�$ ��, � <� s. M �5

 P-� ���l ��� ���9
���

D
� K� JM�=�$ K=�Z= � JM5 �. b�5 %� �2M C ��MSB � p�  M �5

I�� JM5 �Z4� %�$.

�-�-+(-X8=
�"01� >". 
��&S8 ]1� K� �1< p�� � ���5 �2 M-5�=:

6��-I&q� ���B� �&S8 :V&B�� /M C �9�= �= �% JM--$��01 �M&� J�t9�� I&q� D�a �&S8 ]1�

K� �<�� .J�) �%�� %� �&S8 ]1� K��� /M C /�2�9�= %� � J�) K �a�� I!�a %�-$ %� /M C /�2

K� D�  #C /�(9 � �� <� K01 %� ��5 . �4� �o&S8 ]o1� Do�  �oH� W�%�M �9�� /�2 #�o4  �% �o2

K� M-2� .�&S8 J�) ���Z� /�2 �&S8 � ���-���B I42 p�  <� /M C /�2 /�9�= ���Z� /�2

K� ���-���B %�() p�  <� K��� M-5�= .)� �o= [=�o�� K9o�1�= K� 
A��B� ]1�ooooooooooooooooo /�o2 �4

���������702�,�704 M5�=.(

��� 
��L>8�&S8 D�  � K �!9 �4�  [=��� �2 ��= M2��� �%�M �9�� /�2.

f-K*-� ���B� �&S8 :V&B�o� #��Mo� ���� �= �% JM--$ ��01 �M&� J�t9�� K*-� D�a �&S8 ]1�

K� �&S8 �=�4� K �!9��� �`  <� � �<�� K� I&q� ���-���B %�() /�2 M-5�=.
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w-�� M-) �1 �� ]�= K01�90�� ��&B%� ���Z� ���B� �&S8 �o= �o$ /MoB�$ IoQ�*" IHB ��

 /�% K9Q�oo*" /�oo( �1�8 K9���oo-01 ]���ooB � #���@�oo� /�oo( �1�8 ��z�ooB <� /��@�oo
8 %�oo`-�

�4�  [&G %��,� /�(!9��� K� D�  KL��8� /�2 M �5 .�o&S8 Do�  �0�L�(
H� %� ��o�B� /�o2

I�� /%��h K��h� .Mo2��� ]�o�SB �� JM-1�!  �1 jM-(� �`  �= JU��. /��8� ]�" %� Mo5 .]o1�

�&S8 K� ���-���B %�() ���B� �&S8 p�  <� ���B� /�2 M-5�=.

<�0X1:�o1 �� 
���z�oB <� /��@�
8 /��= �1 � J�t9�1� m1 /MB�$ IQ�*" #�1�8 ��9-$ /��=

 ���� %� � #�1�8 ���9 � �=�$ J�% �� %� I�� �<A �t1M01 /�% �= /MB�� IQ�*" +9��� M-)

��� m1 �G�=�� ���B� �&S8���@ +�`-B � D�  �( C %�M� %� ��g9� I��.

�-�-+(-<H��/� �"�/ >�%�(TEST POINT) 
�J<�M � %�`-� �= ���  ]1� ���� ��� �9. /��@ E�. #C ���G� ]��< �= I&�  #��M� /�2 I�� JM5 K-�=

)�%�M �9�� �= p�8%IPS-C-TP-���  M-=�.�.� .($ �95% m1 [1�G <� #��M� ���� �= K��9�� �=�)�=

R����v���9 � ���� ���� %� R=�� �9!�
�� (K� �c�" D��-� ���= ���� %� #C �� m1 �$ ��5

J<�M � ���  �`*H� " :�8 V��B ���H-� #C �t1� �� � JM1��@ ��9� /��@ooooooKB%��

(THERMIT WELD) ���� �1 � +��9�� %��= �G�=�� �%�M �9�� KL��8� �4�  [&G�B� ���� �= +��9� ��

K� J��� ��5 )�%�M �9�� /�2 �4�  �=IPS-D-TP-��� � ��� ��5 �S8���(.

6��-�B� ]���G %� �% #�1�8 ��&B%� �$ KG��  I��� KL��8� �4� ooooo K�1�F 
A�

(INSULATING JOINT) K� %��a�= J<�M � ���  I��� KL��8� �4�  �=�4� >�  M1�!  K� /��@ M5�= .

�%�� M1�= ���  ]1� ��
$ KL���-5 �
=�B /(IDENTIFICATION  PLATE) M-5�= .]1� D�  �H�

K� ]��SB �� JM-1�!  �1 jM-(� �% �2�
=�B M1�! .

f-J<�M � ���  K� [�*
B ���� V� ���� +LiF �= �$ ���9 � ���� ���� /��@ �= [=��� M1�= M �5

�4�  %� JM5 ]��SB /�(
H� %� � ��(B �%�M �9�� KL��8� �4�  8� /�2 D�  ���� V� ���� KL��

J<�M � ���  ]1� D�  #C �= J�iF M ��@ [&G I�� �i� /�%�� ���� �$ KL�(
H� %� /��@

I�� K��>�� �G�=�� �%�M �9�� KL��8� �4� .

�-�-+(-O�"; Db; 
�%� ^%M-� 
��Z4� �= I�1�= K� �(
=�$ ��
$IPS-M-TP-��� M-$ I�=��� +9*2 EZ= .+91C �=

�.�.� �9�� <� �%�M IPS-C-TP-��� ��5 �S8���>� .
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�Y��kM ��@ %��a �� �$ %� K9�1�= �(
=�$ ��
$ .��F �9!�9 �� K� �a�M" ��S=� �= K�� �$ %�`-� ]1M=

K� �*" [!F �9!�9 �� ��9*2 ���9�� �1�. �� /�% �= �% �=�$ J�a�a K9�1�= �(
=�$ #��$<�= /��= ��5

�a�a �01%��= M�4$ �% �=�$ � J��! ��5 <�= �=�$ � M��r= J.K9�1�= �� �$ %� �=�$ #M �%?@ <� �&a

 �01%��= ���@ u���B � �9Z1% ��  ���� �� �$ Y$ %� � JM5 Ui@%� >�!B �� �$ /�2%��1� � Y$

M5�= �9!�9 �� J� �a�M" ��  ���� I��Zh .���� �9!�9 �� J� K9�1�= �� �$ %� �=�$ #M �=��� <� s.

% >�  �=�$ /�% ��  ��5 /%�?@�8C ��  ���� /�% �= � �9Z1)%��a �� �$ ��F %� �8C ��G

K� ���@ (���@ �. /%�*" <� �c�" f�� �= I1�(  %� �.

�\kI��� M2��� ��&a �=�a ��� �% �=�$ <� I!�a #C �=�$ [1�F �= 
%��� �1 � J�@ WK@M�!� �2.

�^k�4�  %� �0 C >8 �= ��*� ��2 JM5 J��� #�4  �G�=�� /�2M5�= �95�� ��8� M1�&  /�t1� �=�$.

��kK� <��  �%�� K��h� /�(
�*� �$ ��5 ��
S� �r �-) �LA� ���h� �= #C ��, � /�h��B M1�= M5�=

M5 M2��� ��, � �Q�  M�L�B � ��Z4B �=�-= V�� �H= �%�� ��*� � ���@ �L�%� �Q�  �= K(�8�B.

�o2k%� #M5 J�%�?@ <� s. �
c��i= �(
=�$ ��
$ D�)�= �
���=M1�= �� �$(TAGS) M�L�B � D��-�

 �c��� �= WM5 M2��� ��(B %�0 �!�. V��B �$ JM5�w���� ���gB ���  %� ]�-r!2 � �9�

I�iF ��5 /%�?@.

��k����%�� M�1�B �%�� �%�M �9�� /�(
�*� <� J��*9�� �= M1�= �=�$ /<�� ��*�(SPLINGING) ��, �

K� �$ KL�(
H� %� ���@ �=�$ �� <�(CABLE LUG) K� J��*9�� ��!  j�. K�1�G �= �% �( C M1�= ��5

M&�r= �=�$ �= {i��$ �$.

�<k���� �= �(
=�$ ���B� KB%��" :�8 [1�G �= {A�� M1�= �2(THERMIT WELD) ]1� ��
$ {�� �z � J��=

[1�F ���$ %��= �� JM-1�!  �1 jM-(� M�L�B �= \�
�� �H-= ���B� ���  $M �5 /%� .]1� /%�0�1�F

 ���Z� K0�9�i. n$ �
���= �1 ���B� /�(
H�(HANDY CAP) �= �1 � #C �= ��=�� �!1��. �

��, � M5�= ���� ���� ����� /%�0�1�F �= D��-� �$ #C �!1��. � K0�9�i. /�2%��  <� J��*9��

K� ���@) .M-= �= �94�= 
�FiG� I(86.2.4 �%�M �9�� <����������820 �%�M �9�� �4�  �= ]�-r!2 �

���������703 ��5 �S8��� (

�b:�1 /�A�� /�2 ���� #�%� M1�= M--$ K� %�&F �2 J��8 � ���B�. �=�S� �1< <� �$ K1�(
=�$

 >1�� �a�M" �= K���-����C|wM �5 /%�?t1�8�9!�
�� .Ia� �= W:�= <� s. I�1�= K� �2 ���� ]1�

9 � %� � M �5 /%�$�a�= <� �( C /�(�-'4�,1 ��5 J��*9�� .
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�-+(-<�  ; �9Y7 ��X� >��� :"X7"� h0/ � 
%#1 
�D�5 �= #�&1�� D�  � ��(B�w%��S=� �= �|*|K-2C #�9� %�() �
��� �= �$ I� ��1� /�(a%� <� �9�

 %�= � \�9�C +��9�� E=�B <� #C �*" I(8 JM--$��01 �M&� K-9= #����M �� /�% �= D��-� K@M

I�� /%��h .P % P % 
��Z4� [=��� W�1�. />��C �4�  %� ^%M-� />��C ��, � �%�M �9�� /�2

��1?. K�.

��%�M  
%��h �1< �%��� %� #�&1�� D� :

Y��kJU��. %� K� #�&1�� /�%�� JM--$��01 �M&� ��� �$ KL�2 M5�=)JU��. M- �� ���� /�2

���9 � ����(

\k01 �M&� �$ /�%��� %��G� ���� %� JM--$ ��K� D�  JM�5�.�� �H� �1 � ma ��5 )%�

���@ 
%�c �G�=�� �%�M �9�� �4�  j��� �= M1�= �M&� D�  �%�� ]1�(.

�-+(-"� >�1"; Ku"S� �� 2�3%#51 � 2"9%�{1 h0/ �/i <�/�?��^ >". 
�/M C D�  J�*" %� JM �5 �M� /�2 �%�M �9�� D�" /M C /�2IPS-C-TP-��� -=M6.3 �9��@ ��, �

I�� �1< �%��� ���5 �:

Y��k�5�� �1 K0B 
%�c �= � K��� �1 /��!F �04= /M C J�*" �*" � %�$ b�5 [&G /�

�4�  �%�M �9�� KL��8� /�2.

\kJ�*" ���� %� �2M C D�  /M C �9�= �1 �2.

^kD� ���� I�iF�= JM5 [�*
B p� �1 ���-���B%�() p� <� ���B� �&S8����
8��
�	��9
�� �4�  �%�$ b�5 [&G

�%�M �9�� KL��8�.

Jk�=�$ K
c� �=�$ �1 � M C �� �=�$ <� J��*9�� �= �2M C �1 M C <� K4$�;
��
�� �B �2M C

�&S8 ���� ���B� /�2.

�kKB%��" :�8 m!$ �= #��M� �����B ���B� �&S8 <� �=�$ �95% m1 ���B�.

<�0X1+-��� ��
$ ��, � K-� 
��Z4� �= /MB�$ IQ�*" +9��� %� �=�4� �%��� M- �� ��� �%

K� K�1%>B #�1�8 <� J��*9�� M5�=.

<�0X1�-#M5 JM-$ <� �B ��5 J��= %�0= Ia� I1�(  M1�= �2M C KL�,=�8 � ��  � �!" %�

���@ /��t4�. #C ���$ #M5 J%�. �1 � M C ��� ]9�05 �1 � M C �� �=�$.

<�0X1�-�,= �$ /�%��� %����$ M C /K� J��*9�� ���$ #�M= M C <� /� s. I�� �<A ��5

 ��
Z� M C p�*B%� �1 � ��G �= � 
�� m1 p�S4= #C ���G� WM C D�  � /M C J�*" �*" <�

��5 �9Z1% K��$ J<�M � �= �1< :I� �9-=|w%+1M� 
�*��� W}%JM < �@ W�}%
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+-�-+(-7"�Hi>�1"! Ku"S� ]�9%� 	
�M"�� JM-1�!  � K-� K�%<�= JM-1�!  W�� JM-1�!  �1 jM-(� %��" %� /MB�� IQ�*" +9��� E1��<C

J�(= K� ��, � %�0 �!�. V��B I$�5 /%���= ���@ ./��= �<A �L��� � %�>=� I�� YQ�� %�0 �!�.

M1�!  +2��� �% E1��<C ��, � .K� �1< b�4= E1��<C �"��� M5�= :)M-= �=�w9�� <�oooooooooo �%�M �IPS-

C-TP-��� ��5 �S8��� (

�Y��kD�a ]��SB I(8 JM--$ ��01 �M&� E1��<C J<�M � � /��%� U�9�� WK*-� � I&q� /�2

�2<��� 

�\kJ<�M � ���� ]�= KS�&G U�9�� /��@ %�  1�9  ]1� #��!  I5����1 � ]��< � E5�. IHB /�2

 E1��<C ���  ��
$(TEST POINT) ��= �= +9��� ���B� <� �&a.

�^kJ�% � ��= ���B� K*-� U�9�� �$ K&�B�B �= �M&� K8��� +�`-B � JM--$ ��01 �M&� /<�M �

���� �%�� %� #�1�8 [1%>B ���  %� ]��< � ���� ]�= K
. E5�. � ��� %��  �= JM5 [1�F /�2 ]
�B�
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�#���-5%�$ K&9$ [���B �= ��-� b�G /��8� M5�&  �1?� �0�� JM5 J��� �c��� I1�F% �01�%��� %�

��= M2��� V=�1l /�( ��<�� K-�.

�� I*  ���� ���� �= K �1< � %�h � �@ �2 
��=�Z� �S��B 
��
!F /��8� ��t-2 �0�B%�c %�

Z� �S��B b�G /�,� M1C �%�� �G�=�� 
�����BM5�= K� 
%��� #��&8 ����� 
��=�.

�M5�= K� +1�" Ma�� I*  ���� V� %��8 %� %�$?� �=�$ �95%.

�-+)-c.i <�� ���� >����� 
YX? "� pW"�1 
�
%��= �1 � /<��� %�&F I��" �� %� ]2C J�% ���� �= ��=�% %� I*  ���� ���� +1�" 
�%���

�% ���� � �2%��a #������ K-!1� �M2 �= KaiBK94  <� K5�  y���" �=��� %� ]2C J@%�. W�1 K

= � I*  ���� ���� K@M�$�BM5�&�� �1l b�4= /<�� EBC J����:

+-�-+)-"5� �� c.i <�� ���� ��XC I7��? KS/ 
��� ���� 2�H��� 
� � 2�� 
�Y��k<� M1�&  ]2C J�% ���� %�H� � I*  ���� ���� %�H� ]�= �
c��}wM5�= �9!$ �9�.

�\k�
c�� �a�M" I1�F% W�2�(5 <� ^%�� J��MH� %��}w ���� � ]2C J�% /�(2�t9�1� ]�= �9�

I�� K��>�� I*  ����.

�^kM5�&  �1?� �0�� %�$?� �c��� �*" �0�B%�c %�WK&9$ I����� �= ��-� b�G /��8�

��= M2��� ]���G K-� #���-5%�$.
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�-�-+)-D\[1 <�_/ � ��XC I7��?.i <�� ���� KS/ 
��� ���� "� c
�Y��k%��a U�-B �= [=��� K-9= �. y�M"� WKaiB �H� %�)/�=����� W /%�= (<� �$ ]2C J�% ���� �

I�� K��>�� M1�!  K� %�&F I*  ���� ���� /�%.

�\k�% KaiB ��G �a�M" �B J��= ��!F 
%��= KaiB J�H  M1�= K-!1� D1�h #��=A�= %�`-� �=

M5�= �95�� .�F%���t�� >�  �2 �-1>2 E2�$ J����= � �. ��G E2�$ �= �,-� ��� ]1� I1.

�^kI*  I$�5 m&� 
AC ]�5�� � 
��*  ���B �=�a �01%��= J��= D��-� ��S=� /�%�� M1�= �.

 M5�=)p�*B%� �a�M"|� �2� ��F �= �9�}M5�= KaiB ��G �=��= �. ��G �a�M" W �9�(.�2 �=

9�� J��8 M1�= 
%�c �1 %?@�1< 
%��= KaiB �H� ]���G %� I*  ���� ���� ���� �= K��

 ���@ K-�= E�. u�� +2 J�@%?@.

��k���= I*  ���� V� /�% <� M1�= KaiB �H� %� W�. y�M"� <� �&a�ww �= K9�� /%���&$�� �9�

 ��5 ��, � V=�1l ���-� <� <�,� ?�� � Kt-2�!2)}w]2C J�% V� %�H� ��G �2 <� �9� (<� s. �

m1 �a�M" p�*B%� �= /��= ���� <� J��*9�� �= #C E5�. � ���� I�Sh� <� #�-�!G� I*  ���� V� �9�

 I��Zh �= /%�?@ D
�� �= � JM5 #��M�|w�9!�9 ��(Load Slab) I*  ���� ���� /��= ���� /�%

 ���� V� �= #M��% D��C <� W�1% <� %��a #M5 ^%�� 
%�c %� �B ���@ ]!1� /<�� EBC � I* 

��5 /��@�
8.

�JkJ�!  ]2C��B �. ��G J<�M � �= M1�= �. y�M"� ��t-2|w%� #��M� ���� V� 
�<��� �= � �9��% %�

�  �= I*  ���� V� 
���!SB ��t-2 �B ���@ D�  Y�� ���B�� %� �. �1<ooooooo�1 ���z�8 D

(Chain block) � /� �S�a K1�,=�8 �= I&�  #��9= #C /�% ��Ma� �. �1< %� /%�05�8 /��= ���� <

��! ) .��a �B ���� ���� /��="�vJ�!  ]2C��B <� #��B K��vJ��*9�� �. Y�� �1< %� D�  /��=

��$(.

��k� �= �,-� �$ JM5 ��,1� K9a�� K��G�-g� #�M�� ]2C J�% �1% /�% <� %��a %�&F ��t-2 #M5 �9Z

/MB�$ IQ�*" +9��� #�1�8 I*  ���� V� ���t�� KaiB �H� %� .���= M1�= ��-1� <��w�2 <� �9�

 KaiB �H� ��G)i$"��= ���=�9� I(�1A �� 
%��= ���� E5�.���@ ��, �.%� �0�B%�c %�

 ��
$ �-1>2 � ��, � �G�=�� ���-� V��B %�0-1� M5�= E5�. +���B �1 � ���� I1��B �= <��  KaiB �H�

�% �= JM5 ��, � 
���Ma� ���t�� 
%�c #C �= ]2C J�% V� KaiB %�`-� �= �$ I*  ���� ���� /

M5�= K� ]2C J�% �S��B b�G /�,� JM(F �=.

�<kW���z�8 ��&a <� ]�t-� 
AC ]�5�� � �@�2 ���B W]2C J�% �S��B b�G 
��
!F ��, � ��t-2

 ���� ���� /�% <� J��� � #����$ W�
1�B WK0� �0� ��= W%��� W %<�M
=M5�&�� p�-!� I*.
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�bkWI*  ���� �= K&��C � �@�2 #C 
��
!F /��8� ��t-2 � ]2C J�% �S��B �1 � y�M"� %�`-� �=

M5�= K� 
�%��� ��
$ #��&8 ����� /�,� WM1C �%�� I*  ���� ���� ���� � �2�t �4  WE5�. .

JM-1�!  �1 V=�1l ���-� +��9�� 
%�`  �= <�,� ?�� ]!h M1�= 
��
!F ��
$ M5�= #C .]2C J�% V�

M5�= K� +1�" Ma�� I*  ���� ���� %��8 %� %�$?�.

��k%�M�� �. y�M"� �$ M5�= /� � �@ �= KaiB �H� %� ]��< p�*B%� �1 � JU��. M$ �0�B%�c %�

 %�&F � KaiB J�H  ���� ���� K�M-(� 
��M� K-� #���-5%�$ I����� � <�,� ?�� ]!h M5�& 

1% �1< <� I*  ���� K �9= �� �$ ���� %� ]2C J�% �(Culvert) ��= M2��� �` M� /��= ���� <� �
!�.

�6k�%�)�  M5�= I*  ���� V� y�M"� �= 
%��h � J��= ��8�� ]2C J�% V� �0&5 �0�B%�c %� "

���� %�&F � K9�� 
%��= �1 � ]�5�� P-1%�= V��B � �B �*" WKaiB J�H  %�`-� �= :�% ]1�9(=

 J��!2 I*  K�i� �=(Casing) M5�= K� ]2C J�% V� �1< <� D��-� �
c�� �=W
%�c �(= K��

�% I$�5 � #��1� I*  K
� f�5 \��� K-� 
��Z4� � �2�%�M �9��#��1� K�i�� /%�(!8 ]2C J

M5�= K� +$�" ��=�% ]1� %� ]���G K-� #���-5%�$ K&9$ [���B ]!h.6��@%�7= I��" ]1� %�

�8� 6�2 �ooooo4�  ;1�PD- ������  �PD- ������ ��� 6�2 �4�  <�8� ;�M-(� I1�1M� ;1��

I�� ;��>�� WI�� �("�G.

�-+)-<�"= "� pW"�1 
���5 ;� ��, � �("�G � ;�M-(� I1�1M� n�B 6�2 �4�  j��� �= �(2��@%>= � �2 J��8 <� %�&F .

H  � JM5 �9��@%�7= �4�  WRG��B 6��8� <� �&a I�� YQ�� %�7 �!�. M�1�B �= �% RG��B <� %�&F J�

M ���= ����%�� .<� M-B%�&F �(2��@%>= � �2 J��8 <� %�&F ;1��8� 6�2 �4� :

PD- ������ 
PD- ������ 
PD-������ 
PD- ������ 
PD- ������ 

p�*B%� �a�M" WRG��B �H� %� �. y�M"� 
%�c %�|� �2� ��F � �9�}��G �=��= ;��G �= �9�

�B ;9�1�= RG��B��5 J��� %��a �` M� %�7 �!�. V� .��M�� 6� �g�B %��1� �
���= ;9�1�= �. ��G ��

��5 �9��@ �`  %� ^��� � ��%� I(8 �H� T1 W��G �2 %� � JM1��@ .E���2 6�%�� M1�= �H�

M5�= ���� I=�G% #���< I(8� D��-�.
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'-+)-"� pW"�1 2" \ � >�"= >".���i 
��4�  [&G �0�L�2��=C %� �2���t�� ��, � �( C Y$ %� �� �$ �*" �= ���� %�&F �G�=�� KL��8� /)��` 

� ����% J��� � ��=C /�(�� �$ � �(
��� W�2 (W�% \C ���� ���gB � %�$ KL��8� :�% I�1�&�� %�0 �!�.

 �� JM-1�!  �1 jM-(� �= D1��B I(8 �% ��>� �%�� �L��� � 
AC ]�5�� ]�-r!2 � #C /��8� #��<

L�%�M2� �) .�%�M �9�� <� +,-. M-= �= �94�= 
�FiG� I(8IPS-C-PI-������ ��5 �S8���(

����� /��= ��>� �%�� /�(�� �$ ��S=� �4�  [&G M1�= KL�2���� ]�-) %� /%�?@ J��= �G�=�� KL��8� /�2

��= M2��Z  ���� /�% <� �9� �� <� �9!$ #C [!F �a�M" ��" �2 %� K��.

�RG��B %� %�0= �2 D�5 /�(!� ]�= %� �9��� E�. /�(!� �1 � ��� +� #��= %�����6��
����,��:
���
���� ��G ��

��= M2��Z  <�,� RG��B.

�J��= �
=�� %��= ���� /�% E5�. RG��B %�)�%�� �= Kt9�= ��� �1 � ��@ ([&G �$ KL�2�8 %� �

�4�  K� ��=�� /�2 � <� I�1�= <� �&a ��5 J��= %�0= K �9= /�2 � <� D�  /�2%��  <� M1�= K �9= /�2

 ���Z�����9��;�
8�� ��!  J��*9��.

���5 ;� ��, � �("�G � ;�M-(� I1�1M� n�B 6�2 �4�  j��� �= ;=C 6�2���� � �2��=C <� %�&F .

M�1�B �= �% RG��B <� %�&F J�H  � JM5 �9��@%�7= �4�  WRG��B 6��8� <� �&a I�� YQ�� %�7 �!�.

�= ����%��M �� .<� M-B%�&F ;=C 6�2���� <� %�&F ;1��8� 6�2 �4� :

����114092�
����114099�
����114115�
����114116�
����114094�
����114093�
����114100�
����114112�

(-+)-"� pW"�1 
/"���� 
�M5�= ���� ���H � �=�a��� �( C %� \C �$ K�G�-� �= ��� ���� %� ���� J�@�2)W�(=���� ��` 

$�=�� ����% WK=C /�2 J��� � �%>= /�2 (�%�� 
AC ]�5�� I�� YQ�� %�0 �!�. WM1�!  �%���=

M1�!  �L�%� �� JM-1�!  �1 jM-(� �= M�L�B I(8 �� C /��8� #��< � J�H  � ��(B �% ��>�.

��4�  %� JM5 J��� #�4  ��S=� �= �% \C�1< �� �$ M1�= %�0 �!�. �2)�4�  ]�= <� �4�  \�Z9 � ��l 6�2

�&a M-= %� JM5 (M1�!  �*".

�%� �% �� �$ ��S=� I�� YQ�� %�0 �!�. M=�1 %���9�� �� �$ %� � \C �1< %� K9�1�= ���� �0�B%�c %�

���t= %��a KL��8� �4�  %� JM5 �Z4� [!F %� ���� �$ M1�!-= �*" #�-) \C �1<.
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��M&�5 /�(!� ]�= %� �9��� E�. /�(!� �1 ��� +� #��= %�0= %(SAG BENDS) WRG��B ��G ��

K� M1�!  \�,1� KB��
!F 
%��h �r �-) K�� ��= M2��Z  <�,� <� �� JM-1�!  �1 jM-(� J<�8� �= #��B

 ��� /�(!�(COLD BENDS) <� ���� #M �=��� ��t-2 �0-1� �= ���4� ��!  J��*9�� \C �1< I(8

���t  J��*9�� #M�4$ :�%.

�y�M"� K�1�G �= M1�= �� �$ ��0B � �1�" ]1�94�= ���� #M�4$ �1 � #M �=��� #��< %� �$ ���@ J�@

M1C ��8�= ���� /��=.

�J<�M � M1�= %�0 �!�. I��@ %��a �� �$ %� ���� �0-1� ��,� �= /��@ � I�Sa�� ]��SB /��= �% �<A /�2

 <� E�= #C ��G �$ [
S� I!�a �2 WM2� ��, � \C �1< %� #C [
S� I!�a ��G}�9� �= M1�= M5�=

���@ +���B M5�= �� JM-1�! �1 jM-(� ��&a �%�� �$ K&�B�B.

����� G��B %� J��*9�� �%�� /�2R� ����% � ��% W���� �=j����= M1�= M-=�w�%�M �9�� <�IPS-C-TP-

��� M �5 J��� E5�..

����� ���5 �0 C <� s. K� :�8 �t1M01 �= WM1��@ K-9= E5�. JM5 [1�F /�2 �5<� s. � M 

[1�F � :�8 K�%<�= D��a #C ���G� :�8 �H� /M-= K� />1% ]9= � WJM5 /��@ �01%��= ��5

���@ �c�" K9���-01 K-9= E5�..

�J<�M � �= ���� � ]5 /�%�� �c�*� /��= K���� ]9= K� J��*9�� JM5 [1�F ���� /��= �$ KL�2 ��5

K� ��" �2 %� K�� ��= M2��� @��< #�!�� <� #��B��!  J��*9�� M�L�B �%�� JM �5 ���h� ���� � ��.

�<� E�= �0�B%�c %�|}%= M5�= JM1� ��Mc [1�F ]9= I��Zh��$ ��!SB �% #C �1< [1�G �= M1�:

Y��k<� �9!$ K=��� I"��� �@�~ww K9 �� ��= M2��� ��&a �%�� ��!SB #�M= M5�= R=�� �9�

M5�= +��� K-9= E5�. �0 C �= ���4�.

\k<� �9!$ K=��� I"��� �@�|}ww K9 �� <� �94�= K�� R=�� �9�~ww K9 �� M1�= M5�= R=�� �9�

�&� � �95���= �% \��S� ]9= � I�05 ��5 #�1�!  +��� ]9= �$ KL�8 �� C %��,� +��� ]9= /�2

 ��
Z� �= �� C s���:���$ ��!SB #�!�� � ����.

^k<� �94�= K=��� I"��� �@�|}ww K9 �� ��G /�% <� {i��$ K-9= E5�. M1�= M5�= R=�� �9�

 �9��� JM5 u1��B K-� 
��Z4� ]1� %� �$ K�1��= M1M8 E5�. � JM5 �95���= \��S� I!�a

M5 M2���.

�<� E�= �( C ��F �$ KL�($�B �Q�  jM-(� ��Z4B �= �-=����� #�����. %� �( C ��G � J��= �9!�
��

 <� E�=��w �%�� ����� �8%� <� E�= � ��F �2 �= �t1� /�($�B �1 ��w�= M1�= �% ��G �9!�9 ��

 �a�M" �= f�B �1�SB|��
Z� �= #C #��$�. � �9!�9 ���:��L��� <� J��*9�� �= � #�!�� ����

��!  ��!SB K=�).

Rev.4
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�-2 I�� YQ�� %�0 �!�. M5�= /%��h #C #M�4$ W\C �1< %� ���� %���9�� /��= �r �-) %�$ ��t

�0 M1�!  I1�F% �% �1< 
:

Y��km1 �= M1�= ���� JM-4$ ��0= +��PULLING HEAD K� :�8 ���� V� �= �$ ��5

 � W���t  <�,� M" <� E�= ���� �= �%�� K4!� E-B #M�4$ Ra�� %� �$ K�1�G �= ��5 �c�

M ��@ E1��<C K���@�1��% �
��� �= M1�= ���� /�% /�(5�8 ��
$.

\k= ���� #M�4$ :�% �95�M  ��8� ��=C Y$ �= ���� #M5 JM�4$ #�0�� �$ I�� K�1�G �

M5�=.

�JM(S= {���!B %�$ :�% u�Hc /��8� I������ W��� �H� %� � \C �1< %� ���� %���9�� #��< %�

I�� %�0 �!�..

�� %��9�� %� M�L�B /��= {i&a �� C 
��L>8 ��
$ M1�= �%�� �� C ]9��@ %�0= M�a %�0 �!�. �$ K5�% jM-(

M2� %��a �� JM-1�!  �1 .J�t9�� ���5 M1�= 
��L>8 ]1� K� J��*9�� �$ KL�2 �= �G�=�� 
�&��H� ��5

 M1�!  I���� %� �Q�  �$ /�t1� ��Ma� �2 � 
��
!F ��, � #��< WK4!� /�2%�4� �q$�M" W�2%�=

 E-B ��� �H� %� ���� #�%�C ]�L�. �1 � #M �%?@ � #M�4$ #��< %� W��= M2��� M1�&  ���� %� �
c�"

 <�}w%K!�
�B E-B �q$�M"(YIELD STRESS) M1�!  <��,B.

����� #M5 ��!0B <� s. ��� ����� I�Sh� �= ��=C u�� �$ K&�B�B �= ��5 �. M1�= �� �$ /%�?@

���@�=.

��&� ����= �2��=C �&� K9Q�*" 
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